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Question Id : 5362282311 Question Type : COMPREHENSION Sub Question Shuffling Allowed

Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension

: Yes Group



The following table shows the total number of beds in each hospital in bracket and the
number of patient admitted at different hospitals for a disease on a particular day. Based on

the data in the table, answer the questions 1-5 :

b

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
]:fl:'uae'alsau\M {100y (50) (100} (50)
Viral disease 30 15 35 10
Heart disease 35 10 30 10
Kidnev disease 15 5 15 b
Liver disease 10 b b 15

Sub questions

Question Number : 1 Question Id : 5362282312 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which disease occupies highest number of beds in all the hospitals?

(1) Heart Disease
(3) Kidney Disease
Options :

5362289001. 1
5362289002. 2
5362289003. 3
5362289004. 4

Question Number : 2 Question Id : 5362282313 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

What 1s the total percentage of unutilized beds?

(1) 19.44%
(3) 16.66%
Options :

5362289005. 1
5362289006. 2
5362289007. 3
5362289008. 4

Question Number : 3 Question Id : 5362282314 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of Liver disease patient admitted in all the hospitals from the total

patients admitted?

15%

13%

(1
(3)

(2)
(4)

(2)
(4)

16%
14%

Viral Disease

Liver Disease

17.66%
15.44%




Options :

5362289009. 1
5362289010. 2
5362289011. 3
5362289012. 4

Question Number : 4 Question Id : 5362282315 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of patient admitted for viral disease to kidney disease?

() 9:4 @2 7:4
(3) o el (4) 10:4
Options :

5362289013. 1
5362289014. 2
5362289015. 3
5362289016. 4

Question Number : 5 Question Id : 5362282316 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the ratio of total patients admitted to Hospital A to Hospital B?

(1) 19:7 & 17:7
(3) 1817 (4 7T:17
Options :

5362289017. 1
5362289018. 2
5362289019. 3
5362289020. 4

Question Id : 5362282311 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension



A= =1 T2 AT A UeAE SEIAE H O S HWEA e HOSEE TE ¢ A el U fFfvem T s

AT HITAT | #7339 qT | 33 A0 | 37T
A B G D
Rl (100) (50) (100) (50)
fmEEg ] 30 15 35 10
B T 35 10 30 10
=T T 15 5 15 5
TFd I 10 5} 5 15

Sub questions

Question Number : 1 Question Id : 5362282312 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i s1oaATe § TRm T o dited el T T GEE gantad 2

(1) FFm (@) faamr=tE T
(3) TEam (4) =F T
Options :

5362289001. 1
5362289002. 2
5362289003. 3
5362289004. 4

Question Number : 2 Question Id : 5362282313 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a¥ft sreTETel § % Tohad wiova e a8 7

(1) 19.44% (2) 17.66%
(3) 16.66% (4) 15.44%
Options :

5362289005. 1
5362289006. 2
5362289007. 3
5362289008. 4

Question Number : 3 Question Id : 5362282314 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) 15% (2) 16%
(3) 13% (4) 14%
Options :

5362289009. 1
5362289010. 2
5362289011. 3
5362289012. 4

Question Number : 4 Question Id : 5362282315 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fauTariaa T # difsd 9dl TFET S T T F gt el e F S 1A

(1) 9:4 (2) 7T:4
(3) 8:3 (4) 10:4
Options :

5362289013. 1
5362289014. 2
5362289015. 3
5362289016. 4

Question Number : 5 Question Id : 5362282316 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AEIATE A 37 ST B 7 Wl Fe T ST 4 R Y

(1) 19:7 2y 17:7
(3) 18:7 (4) 7T:17
Options :

5362289017. 1
5362289018. 2
5362289019. 3
5362289020. 4

Sub-Section Number : 2
Sub-Section Id : 53622892
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362282317 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1= the focus of concern 1n understanding level teaching?

(1) Promotion of scope for seeking of relationship among facts and ideas.
(2) Encouraging recall and recognition of facts and information.
(3) Raising of problems and seeing solutions to problems so presented.
(4) Developing a sense of happiness and ownership in learning.

Options :

5362289021. 1
5362289022. 2
5362289023. 3
5362289024. 4

Question Number : 6 Question Id : 5362282317 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AFaTg W e § gEey # R e

(1) 7= ¥R 9w % 99 599 F 394 F 2 7 g9

(2) A HW FEA F TR0 AN AHAA F AT

(3)  TEEETHAT ] TAT TFTAT 3 56 THE TEd THETH]  HATGE] i W
(4) A 9 e AN IEE g3 T I 9EA 6 e e

Options :

5362289021. 1

5362289022. 2

5362289023. 3
5362289024. 4

Question Number : 7 Question Id : 5362282318 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following emotional characteristica are of crucial significance in adolescent
learning?
(1) Feeling of group belongingnes
@ Hero-worship and sentiments
(3) Expanding emotional ties with those in the neighbourhood
(4) Dependence processes and making friends
Options :
5362289025. 1
5362289026. 2

5362289027. 3
5362289028. 4

Question Number : 7 Question Id : 5362282318 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o T o T=foiigg O O FE-Fi1 =5 99AF faemae [9uias g5 il B 7

(1) =9z o adrea 1 9
(2)  TEF-I HRE TEEHE
(3) TSI % WY WaATeTF g9l i amEn
(4) T sSg@ar 3R T s
Options :
5362289025. 1
5362289026. 2

5362289027. 3
5362289028. 4

Question Number : 8 Question Id : 5362282319 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During teaching when a teacher uses process guestions which of the following types will
have dominance?

(A) Direct questions

(B) Higher order questions

(C) Convergent questions

(D) Indirect questions

(E) Concept based questions

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (B). (C) and (D) only
(3) (C). (D) and (E) only (4) (B). (D) and (E) only
Options :

5362289029. 1
5362289030. 2
5362289031. 3
5362289032. 4

Question Number : 8 Question Id : 5362282319 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



forero % S W9 HIE FASATE UERAT T9A SR AT RAA1 £ A1 (eAtengd § H RE-8 TR R TTE
Tqed BT Y

(A) T T

(B) == FHF U

(€)  wfaET v

D)  weEs v

(E)  TheTaT ATETRd 794

(1) = (A), (B) 317 (C) @) Fa= B). (C) 5% (D)
(3)  F= (). (D) 7 (E) (4) F=9 (B). (D) =7 (E)
Options :

5362289029. 1
5362289030. 2
5362289031. 3
5362289032. 4

Question Number : 9 Question Id : 5362282320 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Tutorals, group discussions and question-answer sessions are dialogic and

are part of direct teaching methods.

Statement II : Project work. Laboratory work, simulation and role playing are action based

and are part of indirect teaching methods.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement 1T is correct

Options :



5362289033. 1
5362289034. 2
5362289035. 3
5362289036. 4

Question Number : 9 Question Id : 5362282320 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dr= 2 Fy ler o E

Fo () =, THE e #6 UvE-3T 5 BaEEs 7 A uee e fata e 2

Fom (ID) : T 7, TEFETE wE, A9 AR girE FEe G smarte 2 o awee fam
fafa = s 2 |
ITIFA FUA F AT § FEIR AEeT T H g S9ged I 69

(1) FRIALIIA F7 |
(2) w13 I EH |51 98 7 |
(8) w 1T 2, g #e [ oE 6 2 |

(4) w18 T4 7 g FoA Lot 2|

Options :

5362289033. 1
5362289034. 2
5362289035. 3
5362289036. 4

Question Number : 10 Question Id : 5362282321 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Maximum performance tests are designed to assess the upper limits of the
examinee's knowledge and abilities.

Statement IT: Typical response tests are designed to measure the behaviour and
characteristics of examinees.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement I 1s incorrect

(4) Statement I is incorrect but Statement II is correct
Options :

5362289037. 1
5362289038. 2
5362289039. 3
5362289040. 4

Question Number : 10 Question Id : 5362282321 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=g T fer mu E

Fod () :  AtaFad HoaEd Wi Wi % O5E S Gegaie i T=Ea9 Sl e e F

FuA (I1) :  Tafore == wiize wfieniiml & ==er it e # 9 % e afim 269 2
STIF FUAT F ATATE § G (AT 9§ B 30E 39 9

(1) &9 I3 I 21 541 7 |
(2)  wya IR I M 591 99 7 |
(8) WA 1#A 2, g wy= 1o 7 2 |

(4) = 15 79 7 g we e 2|

Options :

5362289037. 1
5362289038. 2
5362289039. 3
5362289040. 4



Question Number : 11 Question Id : 5362282322 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following methods 1s used in empirical researches?

(1) Inductive method (2) Deductive method
(3) Initiative method (4) Scientific method
Options :

5362289041. 1
5362289042. 2
5362289043. 3
5362289044. 4

Question Number : 11 Question Id : 5362282322 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
stzamgya wia | faefeiga § o Fe- fata =+ w am 27

(1)  SFTEAeE (2) FrrEEE fa
(3 T AT AT (4) aﬂ'ﬁ-:lj-j &g
Options :

5362289041. 1
5362289042. 2
5362289043. 3
5362289044. 4

Question Number : 12 Question Id : 5362282323 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When the independent variable 1s explored rather than manipulated. to observe the effect on
dependent variable, the method of research is called,

(1) Ex-post facto method (2) Experimental method
(3) Case study method (4) Descriptive survey method
Options :

5362289045. 1
5362289046. 2
5362289047. 3
5362289048. 4

Question Number : 12 Question Id : 5362282323 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



] FHET AR

()  FEm by (2) R il
(3)  *E A=A g (4) TaoTeE TEam =
Options :

5362289045. 1
5362289046. 2
5362289047. 3
5362289048. 4

Question Number : 13 Question Id : 5362282324 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the qualitative research characteristics from the following :

(A) Exploring a problem and developing a detailled understanding of a central

phenomenon.
(B) Having the literature review play a minor role but justifying the problem.
(C) Describing a research problem through a description of trends.

(D)  Collecting numeric data from a large number of people using Instruments with
present questions.

(E) Collecting data based on words from a small number of individuals.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) {A). (B) and (E) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362289049. 1
5362289050. 2
5362289051. 3
5362289052. 4

Question Number : 13 Question Id : 5362282324 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TreAfefEa § ° oneR o fammanet Fi wmEm Hifw

(A)  THET I A S A UREEAT T faed s ey e

(B)  @facg THia #1 U GEH YiE 91 W HEeE w1 a S aaE

(C)  warl = fa=mm F wream # R Ty ome = 90 |

D)  E-TaifE TeaT O ATEEl 5 =P w98 T J AR § HEeAE A U e |

(B) =91 T § =iaaa 8 gl W ST A7 U FT |
9= 3 ™ et 4 9 w@ I 9

(1)  F=F (A). (B) W (C) (2) Fa9 (A). (B) 3 (E)

(3) == (B). (C) #7 (D) (4) = (C). (D) 7 (E)

Options :

5362289049. 1
5362289050. 2
5362289051. 3
5362289052. 4

Question Number : 14 Question Id : 5362282325 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the probability sampling procedures from the following :
(A) Quota sampling

(B) Stratified sampling

(C) Dimensional sampling

(D) Cluster sampling

(E) Systematic sampling

Choose the correct answer from the options given below :

(1) {A). (B) and (C) only (2) (B).(C) and (D) only

(3)  (B). (D) and (E) only (4) (C). (D) and (E) only

Options :
5362289053. 1
5362289054. 2



5362289055. 3
5362289056. 4

Question Number : 14 Question Id : 5362282325 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FTieTiag 5 | WTEEaT Wi Tl ) IR i
(A)  HAITaE A

(B) TR T

(C) HAEFHET Td=44

(D) T9E "ioasd

(E) =afead uia=a4

() === (A), (B) =7 () (2) == (B). (C) 3R (D)
(3) == (B). (D) 3 (E) @) ¥ (C). D) A ®)
Options :

5362289053. 1
5362289054. 2
5362289055. 3
5362289056. 4

Question Number : 15 Question Id : 5362282326 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In research. ‘Null hypothesis’ when rejected. offers the scope for accepting

the alternative or substantive research hypothesis.

Statement II: When the Null hypothesis is rejected. there will be chances for committing
‘Beta rather than ‘Alpha’ error.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362289057. 1
5362289058. 2
5362289059. 3
5362289060. 4

Question Number : 15 Question Id : 5362282326 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I 71wy 2o o #

FeF (1) : g H T I TR 3G = 8, 91 dohieg® 1 Hifish 79 THEReST R =N
=i AR B R

FoA (II) : 58 73 TFETA S 7l 2, a1 SeE A 7H F §wE sz Afe wF i JeEE

=0 |
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(1) oA 1 31 L =q7 721 3 |
(2)  wyE I3 =9 981 991 7 |
(3)  w 1T 2, g Fom Lo T4 7 |

(4)  FH IEA T 2 T e I 2

Options :

5362289057. 1
5362289058. 2
5362289059. 3
5362289060. 4

Question Number : 16 Question Id : 5362282327 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The entry of new media has made online learning :

(1) Secondary source based (2) Dependent on personal sources

(3) Institution-centric (4) Independent

Options :

5362289061. 1
5362289062. 2
5362289063. 3
5362289064. 4

Question Number : 16 Question Id : 5362282327 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



qu Hifsa & AEET J AT SO o s R A 7

(1) T = e @ el 5et W e
(3)  wE-HizA @ =
Options :

5362289061. 1
5362289062. 2
5362289063. 3
5362289064. 4

Question Number : 17 Question Id : 5362282328 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Removwval of communication barriers in a classroom will result in

(A) Clear enunciation of specific instructional behaviours
(B) A climate of purposeful student interaction.
(C) Promotion of personality cult.

(D) The irrelevance of 1llustrative examples.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2)y (B) and (C) only
(3 (C) and (D) only (4) (A) and (D) only
Options :

5362289065. 1
5362289066. 2
5362289067. 3
5362289068. 4

Question Number : 17 Question Id : 5362282328 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FeT T HUTE AT F 72 T TR ET

(A Tafore sEeneRs SgEEE e
(B) et = i HEEyg S iEE w1 A |
(C)  =diwhea =781 °/= o HaEA |

(D)  TH=si sgmEon i SaEhERT |

(1) %= (A) 97 (B) (@) Fa= (B) #E (C)
(3) A= (C) 77 (D) (4) Fa= (A) 3T (D)
Options :

5362289065. 1
5362289066. 2
5362289067. 3
5362289068. 4

Question Number : 18 Question Id : 5362282329 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R) :
Assertion (4): Repeating more and more the same message will make 1t important.
Reasons (R) : ‘Don't use two words when one will do’ 1s the guiding principle that works.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct



Options :

5362289069. 1
5362289070. 2
5362289071. 3
5362289072. 4

Question Number : 18 Question Id : 5362282329 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 31 e f3u o 2 e | wE R wfiees (A) i 28 F 79 (R) FE TR

ATTFTT (A) TF F W N GE-AR EAT 36 HEcagel s |

TF (R) : ‘59 T TeZ | B T 9 F° a1 2 9mE H A0 9 0, 98 UF ArE Hgd B, A
L |

IYFA HYUAT F ATArE | R Ao 8 ° waiias 39geE I 91

(1) (&) =% R) IF 5 = 3 (R). (A) Fi =1 =me 7 |
@ () ¥ R) I T E T ), (A) e 2
@) (&)= R T (R) T A 2

(4 (A FA A 2 T R) A R

Options :

5362289069. 1
5362289070. 2
5362289071. 3
5362289072. 4

Question Number : 19 Question Id : 5362282330 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of phases 1n communication development :

(A)  Acta Diurna

(B) Cave palntings

(C) Wooden blocks for printing
(D) Development of languages

(E) Metal printing

Choose the correct answer from the options given below :

(L (A). (B). (D), (C). (E) (2)  (B). (D), (C). (A). (E)
(3)  (C). (D). (BE). (A). (B) (4) (D). (E)., (A4). (B). (C)
Options :

5362289073. 1
5362289074. 2
5362289075. 3
5362289076. 4

Question Number : 19 Question Id : 5362282330 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HEU THRTE S0 H o HE 5 S TR
(&) IE T

B) TE A

(C)  HgW & foiu g seiam

(D) s

(E)  =7d 3=m

J= o T e 0 @ wE = g

(1) (A (B). (D). (C). (E) (2) (B). (D). (C). (A). (E)

(3) (C). (D). (E). (A). (B) (4) (D). (E). (A). (B). (C)

Options :

5362289073. 1
5362289074. 2
5362289075. 3
5362289076. 4

Question Number : 20 Question Id : 5362282331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(Mode of Communication) (Type of communication)
(A) One—to—one (I) Network (transactional)
(B) One—to— many (IT) Intra-personal
(C) Many— to— many (ITI) Inter-personal
(D) One—to— none (IV) Mass Communication especially print

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(II). (C)-(III), (D)-(IV)
() (A)-ID). (B)-(III). (C)-IV). (D)-(D
(3) (A)-(IID). (B)-(IV). (C)-(D). (D)-(ID)
@)  (A)-aV). B)-D. (C)-aD). (D)-II)

Options :

5362289077. 1

5362289078. 2

5362289079. 3
5362289080. 4

Question Number : 20 Question Id : 5362282331 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Z=i-1 =i G-I & HHiea Hirae
-1 =10
(F=rer faf) (EEToT =T U
(A) TF T UFH F A= (@O F2a% (Ts9a=rAT)
(B) TF AN FE F A Al) =T - T
(C) % 3N =2 = o= (III) = —aaiFas
(D) ©F AT TR = T (IV) = =9, e g2

$5 23 ™ faweat A § WA I g
(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(2)  (A)-(I). (B)-(III). (C)-(IV). (D)-I)
(3) (A, B)IV). (C)-D). (D)(ID)
(4) (A)-(IV), (B)-(D). (C)-(II). (D)-(I1I)
Options :

5362289077. 1
5362289078. 2



5362289079. 3
5362289080. 4

Question Number : 21 Question Id : 5362282332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the actual profit when the profit on selling price is 25%7?

(1) 33.33% (2) 30.33%
(3) 25% (4) 20%
Options :

5362289081. 1
5362289082. 2
5362289083. 3
5362289084. 4

Question Number : 21 Question Id : 5362282332 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Itz Forsk qo9 W wH 25% 7 A1 At @ w1 B 7

(1) 33.33% (2) 30.33%
(3) 25% 4y 20%
Options :

5362289081. 1
5362289082. 2
5362289083. 3
5362289084. 4

Question Number : 22 Question Id : 5362282333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the remainder when 4% 1s divided by 157

(1) 4 (2) 5
(3) 8 (4 11
Options :

5362289085. 1
5362289086. 2
5362289087. 3
5362289088. 4

Question Number : 22 Question Id : 5362282333 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

451 159 TH9TT=d =04 W TT%A 94 B Y

(1 4 (2 5
@ 8 @ 11
Options :

5362289085. 1
5362289086. 2
5362289087. 3
5362289088. 4

Question Number : 23 Question Id : 5362282334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the missing number?

4, 8. 16, (7). 64, —128

(1) —24 2y —-32
(3) 24 (4) 30
Options :

5362289089. 1
5362289090. 2
5362289091. 3
5362289092. 4

Question Number : 23 Question Id : 5362282334 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
iR 5 W= A foe (7) F FUR W FE = mwe i
4, —8. 16, (7). 64, —128

(1) —24 (2) -32
(3) 24 4y 30
Options :

5362289089. 1
5362289090. 2
5362289091. 3
5362289092. 4

Question Number : 24 Question Id : 5362282335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Sometimes. Ratio has units.
Statement II: When two ratios are equal, a proportion is formed.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement I are false

(3 Statement I is correct but Statement IT is false
(4) Statement I 1s incorrect but Statement I1 1= true
Options :

5362289093. 1
5362289094. 2
5362289095. 3
5362289096. 4

Question Number : 24 Question Id : 5362282335 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 77 A fqm o 7

Fo ([) :  Fi-Fefl S = 3 B A

Fo (I[) : =9 3 ST R B 7, A0 A F O A
STFA FUA % AAF ° AR el § H wE I u

(1) =y LR ILEE 58 7 |

(2)  wuE I3 I EF e 2 |

(3) YA 17 7 g Fo9 I17Ted 7 |

(4 w9 55 ¢ g F9 I 7|

Options :

5362289093. 1
5362289094. 2
5362289095. 3
5362289096. 4

Question Number : 25 Question Id : 5362282336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Co-primes are the numbers which have only 1 as their common factor.

Statement I : Factorisation 1s the decomposition of a number into the other numbers which

when added together will give the original number.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 11 are false

(3) Statement I 1s correct but Statement IT 15 false
(4) Statement I 1s incorreet but Statement II 1s true
Options :

5362289097. 1
5362289098. 2
5362289099. 3
5362289100. 4

Question Number : 25 Question Id : 5362282336 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 21 Fo fam o E

Fo (I):  TE-319T9 TEAC 9 7 T I9EEE TEEs 9 1 EE E

FoF () : TEs T UG § RE HEA S SEen ¥ St e i B e uE oAy
ST FA F AT | R e § 9 wE o

(1) == 1R I =M =21 7 |

@ A 1w I A e E

(3) FFITF 7 g F [T 2

(4)  wue 1 w15  fohg wue oA 2 |

Options :

5362289097. 1

5362289098. 2

5362289099. 3
5362289100. 4

Question Number : 26 Question Id : 5362282337 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In terms of the relationship indicated below, which word will correctly pair to replace the
questions mark?

Worse : Bad :: Doting :

(1) Reverence (2) Fond
(3) Hate (4) Dishke
Options :

5362289101. 1
5362289102. 2
5362289103. 3
5362289104. 4

Question Number : 26 Question Id : 5362282337 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= fou 7m0 Feig Fi 2 @ uv A fae F E W FE @ U TEH § 6E g5 a7

SR L B LU RS “P’-r'i

Q5= 2 =
(3) g (4) =
Options :

5362289101. 1
5362289102. 2
5362289103. 3
5362289104. 4

Question Number : 27 Question Id : 5362282338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below 1s a proposition :

‘The weather 1s very cold today’.
Which one of the following. according to Nyaya. 1s the correct option?

(A) Samanva lakshana
(B) Yogaja
{C) Jnanalakshana

(D) Sannikarsha

Choose the most appropriate answer from the options given below :

(1) (A only (2) (B)only
(3) (C) only (4) (D) only

Options :



5362289105. 1
5362289106. 2
5362289107. 3
5362289108. 4

Question Number : 27 Question Id : 5362282338 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘3T HiEw wgd Su 21
I % ATEE T e 34 7 fetetEa § 5 w0 w wd e 77

{A) HHE @4

B) TH

(C)  3H =&m

(D) ===

= fou ™ fawent @ wE I 9

(1) == (A) (2) Fa= (B)
(3) = (C) (4) == (D)
Options :

5362289105. 1
5362289106. 2
5362289107. 3
5362289108. 4

Question Number : 28 Question Id : 5362282339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange 1n sequence the following theory of ecausality in Aristotle’s philosophy :
(A) Material cause
(B) Efficient cause

() Formal cause
(D) Final cause

Choose the correct answer from the options given below :

(1) (A). (C). (B). (D) (2) (A). (D). (B). (C)
(3)  (C).(B). (A4). D) (4)  (A). (B). (C). (D)
Options :

5362289109. 1
5362289110. 2
5362289111.3
5362289112. 4



Question Number : 28 Question Id : 5362282339 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S o 29 B FEead SRl gt H FEEEE W
(A)  Hifes Fam

(B) HEH o

(C) AR FE0

(D)  @fgm =HEm

Hr= o3 w1 fame § wd I g

(1) (A (C). (B). (D) (2) (A, (D) (B).(C)
(3 (0. ®B).A). D) 4 (A (B).(C). (D)
Options :

5362289109. 1
5362289110. 2
5362289111.3
5362289112. 4

Question Number : 29 Question Id : 5362282340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Some examinations are too long.
Some examinations are too difficult.

Therefore, some examinations are too long and too difficult.

Statement II : Some dogs chase cats.
All dogs have fleas.

Therefore. some cat-chasing dogs have fleas.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement IT 1= false
(4) Statement I is incorrect but Statement IT is true
Options :

5362289113. 1
5362289114. 2
5362289115. 3



5362289116. 4

Question Number : 29 Question Id : 5362282340 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FoF () :  F9 T sEd o= w2l A |
Fo (II) : T2 Fed f@ieeat #1 IS id 2 |
T4 e 7 g 7
37, Tafeaar 1 9a1 w5 91 F9 Feal ¥ 190 7 2 |
ITF FA F AAF § =R e § 7 JA 39 I
(1) =9 I 3R I = =21 7 |
(2 w3 I 3E 7ed 7 |

(8) = I5ea 7 T = I 7= 7 |

(4) w9 [ 37079 7 Tohg 9 I @A 7 |

Options :

5362289113. 1
5362289114. 2
5362289115.3
5362289116. 4

Question Number : 30 Question Id : 5362282341 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Human reason has this peculiar fate that it reaches at a stage when 1t can
neither answer certain questions nor can it ignore such guestions.

Statement II: Human reason, by its own nature. 1s not competent to resolve certain
guestions concerning the ultimate reality.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1= correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement IT 1s correct
Options :

5362289117. 1
5362289118. 2
5362289119. 3
5362289120. 4

Question Number : 30 Question Id : 5362282341 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TEEFE R

F9 (I): =4 7% F1 98 390% ¢ % a8 vH feufa 8 ugs S 2 9= 98 Fiae v # T A9 S 3
AT £ W F 396 SEE] S 5T F

FoF (I1) : 99 7% A9 T=HE § =08 999 § FEiad Hia99 U9 i 7 w0 § HaH T8 7

ST FAAT F AE § g faweal § ¥ #aia 3999 3 19

(1) =9 13RI 3E 577 |
(2) A I1 21 =8 98 & |
(3) oA 7, T = 1154 =41 2 |
(4) TE TE 7 TR o 1L 5R 2
Options :
5362289117. 1
5362289118. 2

5362289119. 3
5362289120. 4

Question Number : 31 Question Id : 5362282342 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



MOODLE 1= abbreviation of

(1) Modular Object-Oriented Distance Learning Environment
(2) Modular Object-Oriented Dynamic Learning Environment
(3) Modular Object-Oriented Distance Legislative Environment
(4) Modular Object-Oriented Distance Legal Environment

Options :

5362289121. 1

5362289122. 2

5362289123.3
5362289124. 4

Question Number : 31 Question Id : 5362282342 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MOODLE fr=iffaa 5 & famerr mftea am 27
Options :

5362289121. 1

5362289122.2

5362289123.3
5362289124. 4

Question Number : 32 Question Id : 5362282343 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Extra browser window of commercials that open automatically on browsing web pages 1s

called

(D Spam (2) Virus
(3) Phishing (4) Pop-up
Options :

5362289125. 1
5362289126. 2
5362289127. 3
5362289128. 4

Question Number : 32 Question Id : 5362282343 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FHAETEEH i AT FIA G, W 98 09 W F6d T T Ged] 2, T FEend 7 ¢

(1) wm (2) =
(3)  THE (4) TI-31g
Options :

5362289125. 1
5362289126. 2
5362289127.3
5362289128. 4

Question Number : 33 Question Id : 5362282344 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: World Wide Web 1s not an example of client-server technology.

Statement IT: FTP 1s a service available on the internet.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(1 Statement I 1s incorrect but Statement I 1= true
Options :

5362289129. 1
5362289130. 2
5362289131.3
5362289132. 4

Question Number : 33 Question Id : 5362282344 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



4= = e B E

wo (1) : IS 9SS 99 FoEZ-HaT STl 1 3200 76 2

Fo (D) : TF A A T2z T ST UF OaT 2 |

S AT % S 1 e e § 8w T

(1) FE 1A T3 |
(2)  F9E IR 24 =4 2 |
(3) w9 1T % g F9F 117 7|
(4)  wuF I @ 2 g % DA 2 |

Options :

5362289129. 1
5362289130. 2
5362289131.3
5362289132. 4

Question Number : 34 Question Id : 5362282345 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Whach of the following statements 1s/are true?

(A) Fibre optic cables are wooden fibres to provide high quahty transmission.

(B) Wireless communication provides anytime, anvwhere connection to both computers
and telephones.

(C) Mobile phones are capable of providing wvolce communication and also digital
Imessaging service.

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (B) and (C) only
(3) (A) and (B) only {(4) (C)only
Options :

5362289133. 1
5362289134. 2
5362289135.3
5362289136. 4

Question Number : 34 Question Id : 5362282345 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fraferfiaa o & Ft@ /9 #u= =6 2/37

(A) TS ANEH HeeH Fo= TUEE] F AT ITEY FH F (A E |

(B)  AMH FEAMEIA FHZE AN THAEE 2T H A ft we e B ff e W e aee
FAT E |

(C)  HrETss FF A0 FEAEE i fefaes duta afbm 20 i gfw 1me v d s

5 Fr T e B A e g

(1) === (A) 3117 (C) (2) I« (B) 31 (C)
(3)  Fa= (A) IR (B) (4) = (C)
Options :

5362289133. 1
5362289134.2
5362289135.3
5362289136. 4

Question Number : 35 Question Id : 5362282346 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Consider the following technologies :

(A) Microprocessor

(B) Transistor

() Vaccum Tube

(D) Artificial Intelligence

Arrange the above technologies of different computer generations in the order they have
been used. Start from the technology that was used in first generation.

Choose the correct answer from the options given below :

(1) (C). (A). (B), (D) (2) (C), (B), (A). (D)
(3) (B). (C). (A). (D) 4) (C). (B), (D). (A)
Options :

5362289137. 1
5362289138. 2
5362289139.3
5362289140. 4

Question Number : 35 Question Id : 5362282346 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=feAtigs Tt e W

(A)  HIEHTEE
(B) A=

©) el

(D)  FE "hgmem

fafy= Foge difeal § w=m $1 72 Rla wrEnfrre s 1 ueel Jid ¥ 9% wd 50 F6 1 T
= T2t 1 Fwent o e g

(1) (). (A). B). (D) (2 (). (B). (A). (D)

(3)  (B). (O). (A), (D) 4) (0. (B). (D). (&)

Options :

5362289137. 1
5362289138. 2
5362289139.3
5362289140. 4

Question Number : 36 Question Id : 5362282347 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The only UN treaty related to environmental issues which has been ratified by all 197 UN
member states 1s

(1) Montreal Protocol (2) Paris Agreement

(3) Kyoto Protocol (4) Basel Convention
Options :
5362289141. 1
5362289142. 2
5362289143.3
5362289144. 4

Question Number : 36 Question Id : 5362282347 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TR qaE § HEiad UHAE HEEd U A@asar BH @ 7 e g 1w % ol 197 5ee ugl g

(1) =g g (@) it moE
(3) R (4) e T

Options :

5362289141. 1
5362289142.2
5362289143.3



5362289144. 4

Question Number : 37 Question Id : 5362282348 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As of now. which of the following is a leading country in wind energy based electricity
generation?

(1) India (2) China
(3) France (4) Denmark
Options :

5362289145. 1
5362289146. 2
5362289147.3
5362289148. 4

Question Number : 37 Question Id : 5362282348 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAAH T TE Tl T fed 3T F ome § fefafee § 5 F1 w@ osmi 3 e

(1) 9rA (2) =M
(3) w=m (4) =EEE
Options :

5362289145. 1
5362289146. 2
5362289147. 3
5362289148. 4

Question Number : 38 Question Id : 5362282349 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Solar Water Still’ 1s a device to

(1) Produce potable water by using solar energy
(2) Pump water by using solar energy

(3) (Generate electricity by using solar energy
(4) Produce heat using solar energy
Options :

5362289149. 1
5362289150. 2
5362289151. 3



5362289152. 4

Question Number : 38 Question Id : 5362282349 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

'HIeT AT feE U I B, T I Heieted § 5 e T T oama a0

(2)  HE S F ITAM A FA F I FH o

(4)  HE T F I IO S 3T FH H 10|
Options :
5362289149. 1
5362289150. 2
5362289151.3
5362289152. 4

Question Number : 39 Question Id : 5362282350 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the primary air pollutant among the following :

(1) Ozone (2) Black carbon aerosols
(3) Sulphate aerosols (4) Peroxy Acetyl Nitrate (PAN)
Options :

5362289153. 1
5362289154.2
5362289155.3
5362289156. 4

Question Number : 39 Question Id : 5362282350 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fr=feriaa 5 5 mufs 9 w59 F TEEE =

(1) == (2) =AF A TIETEE
(3) =z TwEEE (4) T v e (f v )
Options :

5362289153. 1
5362289154. 2
5362289155.3
5362289156. 4



Question Number : 40 Question Id : 5362282351 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Long stretches of major rivers of India have very low Biochemical Oxygen
Demand (BOD) values.

Statement IT: In mvers oxygen 1s added into water by diffusion from air due to its turbulent
and rapid flow.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT 1s incorrect

(4) Btatement I 1= incorrect but Statement I 1s correct
Options :

5362289157. 1
5362289158. 2
5362289159. 3
5362289160. 4

Question Number : 40 Question Id : 5362282351 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fud (I): 9Wd =1 99E A o WS H S A 5 (e A Eae (5
HATEN) ) F1 9 q5T FA BT |

Fed (II) : A 39 AR OF TGE % w09 9§ G " I W § AT 6 e # |
S A ATAS A AR el # H Haasw S9ge I G

(1) FwWR IR Iz a3 7 |

(2  wyE I I = =8 751 2 |

(3) FH I5F 2 g #u= [ 971 761 2 |

(4)  FoE ITF T 7 g e I 2 |



Options :

5362289157. 1
5362289158. 2
5362289159. 3
5362289160. 4

Question Number : 41 Question Id : 5362282352 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Paravidya. according to the vedic tradition. imphies :

(1) Knowledge based on human experience
(2) Knowledge that transcends human experience
(3 Knowledge acquired from teachers
(4) EKnowledge acquired from texts.
Options :
5362289161. 1
5362289162. 2

5362289163. 3
5362289164. 4

Question Number : 41 Question Id : 5362282352 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1D qHa JH9F T AT 74
(2)  AFE FEEE H W A H
(3)  Toem ® wfa 7=
(4) T H AT 7
Options :
5362289161. 1
5362289162. 2

5362289163. 3
5362289164. 4

Question Number : 42 Question Id : 5362282353 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The underlyving purpose of environmental education 1= to :

(&)
(B)
(C)
(D)
(E)

Adjust to environmental challenges

Help face environmental hazards

Promote individual’s eritical-thinking about emerging 1ssues
Increase public awareness and knowledge of environmental 1ssues.

Enhance problem-solving and decision-making skills in respect of handling
environmental issues.

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B). (C). (D) only
(3)  (C). (D). (E) only 4) (D). (E). (A) only
Options :

5362289165. 1
5362289166. 2
5362289167. 3
5362289168. 4

Question Number : 42 Question Id : 5362282353 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THTETT AT 1 ARG 32279 7

(A) T HET A O FEETE A

(B)  TATETw TeHi @At 1 HEAT A HErEda w5 |

(C) =% g2g1 & =1 § =Afda = GHTEr=cE e 1 s & |

(D) A HEHl ggE) kAW SASrEhdl SR 5 |

(E)  w=ram weell gl & Fuzd § amen-wmam i Fof o9 % w8 q9ig w5 |
Fr= foz ™ oot @ wd = 9

(1) === (A). (B) =7 (C) (2) F== (B), (C) 5% (D)

(3) =« (C). (D) i (E) @) FaE (D). (E) 37 ()
Options :

5362289165. 1
5362289166. 2
5362289167. 3
5362289168. 4

Question Number : 43 Question Id : 5362282354 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



MHRD, Govt. of India. scheme ‘RUSA’ supports the following components :

(A) Upgrading autonomous colleges to the status of a University
(B) Providing maintenance grants to state Universities

(C) Setting up of new professional colleges 1n un-served and under-served areas of the
country

(D)  Providing infrastructure grants to colleges and universities to scale up capacity

(E) More scholarship programmes to supplement the cost of education

Choose the correct answer from the options given below :

(1) (A). (B). (D) and (E) only (2) (A). (B). (C) and (E) only
(3)  (B). (C). (D) and (E) only 4) (A, (C). (D) and (E) only
Options :

5362289169. 1
5362289170. 2
5362289171.3
5362289172. 4

Question Number : 43 Question Id : 5362282354 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A EEE % HEE GEEA A wEae i = gie Gefaigd 3 d@ B g 7 @EEa 1EE
AT 27

(B) T TavAEAl 1 ST HASH T9H HH (o |

(C) 271 % =8TEd 30 A-9HEd 91 5 AU SEEia® i) i SrE #4016 9 |
(E)  Tovan 1 &7 i1 9990 F4 F To0 a1t seEicd SEEy 960 # o |

= T2 W e | wE g

(1) == (A), (B), (D) 3 (E) (2) =aE (A), (B). (C) w1 (E)
(3)  Fa= (B). (C), (D) 3 (E) (4) =4 (A), (C), (D) 1 (E)
Options :

5362289169. 1
5362289170. 2
5362289171.3
5362289172. 4

Question Number : 44 Question Id : 5362282355 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ICT i1mtiatives of MHRD deal with E-governance for
institutions/universities?

(1) SAMARTH (2) VIDWAN
(3) IRINS (4) SWAYAM
Options :

5362289173. 1
5362289174. 2
5362289175.3
5362289176. 4

Question Number : 44 Question Id : 5362282355 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

qHE SHUE 19 9910 i g § % w0 AR =5 2 Tee g/ favataaent % o s-maes
T Harad 7 7
{1} .'-!T.l'{?? {2} i = 1
(3) ‘HE @R A g (4 ‘=
Options :

5362289173. 1
5362289174. 2
5362289175.3
5362289176. 4

Question Number : 45 Question Id : 5362282356 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A De-novo’ institution 1s characterized by
(1) ICT enabled pedagogy
(2) focus on teaching and research in unique and emerging areas of knowledge

(3) focus on teaching and research on foreign languages and their literature
(4) state of art infrastructure

Options :

5362289177. 1
5362289178. 2
5362289179. 3
5362289180. 4

Question Number : 45 Question Id : 5362282356 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



s Tz wen F = e 27

(1) _ﬂ_rf'-r_' I’ﬁ ;ﬁ HHT?]IFI F-qrﬁui.a”a_q
(2) T F G 3 T A= ° 0 S 9 W S i e |
(4)  AENGHF ARl 2

Options :

5362289177. 1
5362289178. 2
5362289179.3
5362289180. 4

Sub-Section Number : 3
Sub-Section Id : 53622893
Question Shuffling Allowed : Yes

Question Id : 5362282357 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage and answer questions from 46 to 50.

If so much of present day cultural learning depends on situation and context how do the
resulting assemblages acquire an organised coherence? One way this 1ssue 1s being raised in
recent anthropologv 12 through the conecern with 1dentity, whether defined as identity of the
person of an ethnic group or of an entire nation. But identities do not swim above in the
stream of social life like amoebas in fermenting banana soup. If definitions of identity
involve a characterisation of attmbutes and a drawing of boundaries around the units so
defined. in contrast with other units, this must have a causal context. Moreover, we know
that the search for identity vares historically, intensifving or slackening over periods of
time. Thus, a major rse occurred in the demand for identity with the advent of the
nation-state and the collateral development of nationalism. which hoped to create a unified
and 1dentifiable ‘people’. out of diverse populations with distinetive identities of their own.
Recently, the demand for identities has risen once again. precisely at a time when cultural
repertolres are becoming again more heterogeneous. as people have responded to changes In
the social division of labour, in their relation to governments, in reaction to new modes of
communication. These repertoires of cultural understandings and practices do not easily fit
any traditional notion of culture as an integral and integrated set of forms and meanings.

Sub questions

Question Number : 46 Question Id : 5362282358 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the focal 1ssue 1n the present day cultural learning?

(1) Unending discussions on it (2) Contextual clarity
(3) Anthropological concern (4) The need to organise the issue properly

Options :



5362289181. 1
5362289182. 2
5362289183. 3
5362289184. 4

Question Number : 47 Question Id : 5362282359 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The 1dentity has a tendency to have

(1) Different attributes from others

(2) Coherence with other units

(3) Undistinguishable boundaries

(4) The movement above the stream of social hife

Options :

5362289185. 1
5362289186. 2
5362289187. 3
5362289188. 4

Question Number : 48 Question Id : 5362282360 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Historically the search for identity has been of

(1) Uniform continuity (2) Slackening of culture
(3 Intermittent intensity (4) Illogical motives
Options :

5362289189. 1
5362289190. 2
5362289191.3
5362289192. 4

Question Number : 49 Question Id : 5362282361 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The advent of nationalism led to
(1) Competing 1identities
(2) Single 1dentity across the nation
(3) The emergence of a unified cultural repertoire

(4) Unity within diverse identities



Options :

5362289193. 1
5362289194. 2
5362289195.3
5362289196. 4

Question Number : 50 Question Id : 5362282362 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The new cultural understanding does not fit into the traditional notion of culture due to

(1) New modes of communication

(2) Traditional social divisions of labour

(3) Integrated sets of meanings
(4) The creation of a strong nation-state
Options :

5362289197. 1
5362289198. 2
5362289199. 3
5362289200. 4

Question Id : 5362282357 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)

Question Label : Comprehension

Fr=fefEa T A U8 A avEl (46-50) F IS

A T WEFOF HAERE AT AfgwrE: fid m s m AR em s o em R
uﬁﬂﬂtﬁmrmarﬂwaﬁquﬂﬁmgfwnmﬁnmqﬂm—mwwm
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Sub questions

Question Number : 46 Question Id : 5362282358 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A DA T TIHGE SO F hE g T 27

(1) =8 9 T I == (2) H=H FEEH ToEE
(3)  FewATE TN (4) =H g i IEA 2 W @S w H AETIHA

Options :

5362289181. 1
5362289182. 2
5362289183.3
5362289184. 4

Question Number : 47 Question Id : 5362282359 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEH H HEfeiad e # 1 #i g wet w
(1) 3= = =

(2) 31T THEIEA H HEGAAT

(3)  sAfaydm Hmm

(4)  TEITE S 9T 1 TR 9 e

Options :

5362289185. 1
5362289186. 2
5362289187. 3
5362289188. 4

Question Number : 48 Question Id : 5362282360 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

iR ¥9 § TsAH § FHeletad @ 1 5w w5 w5 v w2

(1) THOHH A (2) TP Fi e

(3)  FEA dg (4) FATEF IORF

Options :

5362289189. 1
5362289190. 2
5362289191.3
5362289192. 4



Question Number : 49 Question Id : 5362282361 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT F 3599 % F0 FEfaiEd 5

(1) pIGE I eI

r

(2)  HYY TE H UES TEEE

(3) iED vqfr@n Hi-ug_nfﬁm FI91 F] 359
@) T T e

Options :

5362289193. 1
5362289194. 2
5362289195. 3
5362289196. 4

Question Number : 50 Question Id : 5362282362 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T B AF AFEg HETeiEd § e e SR S WERERE 9o & JgET A5 S 7

(1)  F=n =i 945 Tgaat

(2) 4 F WOEFE OETAF 5975
(3) AU = THH WHR

(4  TF gEgd E-TF T HIA

Options :

5362289197. 1
5362289198. 2
5362289199. 3
5362289200. 4

PART II Electronic Science

Section Id : 53622832
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622894
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362282363 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In case of varactor diode with hyper-abrupt junction the sensitivity (S) value for m = =2 iy
(1) 2 () 3
1
(3 1 4 -
} 2
Options :

5362289201. 1
5362289202. 2
5362289203. 3
5362289204. 4

Question Number : 51 Question Id : 5362282363 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In case of varactor diode with hyper-abrupt junction the sensitivity (S) value for m = = iy
(1) 2 (2) 3
1
(3 1 4) -
} 2
Options :

5362289201. 1
5362289202. 2
5362289203. 3
5362289204. 4

Question Number : 52 Question Id : 5362282364 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For an 1deal MS contact between a metal and a P-type semu conductor. The relation between

barrier height g ¢ , is given by

E -
1) adz0= am—2) @ adg o= Tg—q{;ém —x)
(3)  9¢s.0/= 21X ) (4) g ¢p o~ E2—a(hn—2)
Options :

5362289205. 1
5362289206. 2
5362289207. 3
5362289208. 4

Question Number : 52 Question Id : 5362282364 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For an 1deal MS contact between a metal and a P-type semu conductor. The relation between

barrier height g ¢ , is given by

E n
(1) 4 95,0/~ 9(fm—2) @ adg o= Tg—q{;ém —X)
(3)  ads 0~ 9(x—¥n) (4)  adp 0~ Ez—qldy—2)
Options :

5362289205. 1
5362289206. 2
5362289207. 3
5362289208. 4

Question Number : 53 Question Id : 5362282365 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Debye length L, 12 a characteristic length for semiconductor and is defined as

e —
(1) LD= I| ES ILT {2} - ||ESQﬁT
V aN VaN
e ' I a
) s I|2f:3n KT @) L= |IES K:,F
\ ¢N \ 2gN

where. K 1s Boltzmann constant, T 1s temperature in Kelvin, g is unit electronic charge, IV

is impurity concentration of the substrate in per m’, e is dielectric permittivity of silicon.

Options :

5362289209. 1
5362289210. 2
5362289211.3
5362289212. 4

Question Number : 53 Question Id : 5362282365 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Debye length Lj 1s a characteristic length for semiconductor and is defined as

e =
(1) LDZ I| Eg KT {2} L_D: ll'ES‘:E:LTT'
V aN V a°N
- . | i
(3) L= I"?‘tﬂqi @ L= |Es K'T
\ ¢'N \ 2qN

where. K 1s Boltzmann constant, T 1s temperature in Kelvin, g 1s unit electronic charge, IV

is impurity concentration of the substrate in per m?. € 18 dielectric permittivity of silicon.

Options :

5362289209. 1
5362289210. 2
5362289211. 3
5362289212. 4

Question Number : 54 Question Id : 5362282366 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The depletion layer width at thermal equilibrium for a one-sided abrupt junction is

[ . [ - =
: | €5 | 2KT 12 eg ( 2KT
(1) Wp=| i{!ﬂﬁ’ai ——] (2) Wy= | I_? \ Yy — ]
Val q Van| q
| i \ | ;
@ W= 25|y, —KTJ 4) Wp=SS %E_KT]
e 4 1l|| g N\ q
Options :

5362289213. 1
5362289214.2
5362289215.3
5362289216. 4

Question Number : 54 Question Id : 5362282366 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The depletion layer width at thermal equilibrium for a one-sided abrupt junction is

f [ z -
| f o [+ p
O W= Es{%i _E] @ W,=|2Ss (v _EKT]
1‘ q N aq 1|I| q N i q .
| ] ) f 7
® W= 2%ty - KTJ @ Wy= |5y, -2 ]
ﬁuq‘h'r-l q 1l.|qf‘-'r\ q
Options :

5362289213. 1
5362289214. 2
5362289215.3
5362289216. 4

Question Number : 55 Question Id : 5362282367 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Number of ways 1n which a Schootky defect can oceur 1n sihicon 1= given by

N!
{PJ = ns}!

N!

1
n,!

(1) (2)

N!
N-n!

N1
(N—-n)!n!

(3) (4)

where N = total no. of atoms 1n a erystal of unit volume

n, = number of Schottky defects per unit volume.

Options :

5362289217. 1
5362289218. 2
5362289219. 3
5362289220. 4

Question Number : 55 Question Id : 5362282367 Question Type : MCQ Option Shuffling
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Number of ways in which a Schootky defect can occur 1n silicon 1s given by

N1
{*N &= ns}!

Nt

1
mn,!

(1) (2)

N!
N-n!

N!

3 o= ERE
) (N—n)n!

(4)

where N = total no. of atoms 1n a crystal of unit volume
n, = number of Schottky defects per unit volume.

Options :

5362289217. 1
5362289218. 2
5362289219. 3
5362289220. 4

Question Number : 56 Question Id : 5362282368 Question Type : MCQ Option Shuffling
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

: No Is Question

: No Is Question



What would be system pressure of S1-MBE system in order to achieve 5 x 107 em mean free

path(L) of atoms?

(1) 10-7 torr (Z2) 10-Storr
(3) 10-? torr (4) 10-%torr
Options :

5362289221. 1
5362289222.2
5362289223.3
5362289224. 4

Question Number : 56 Question Id : 5362282368 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What would be system pressure of S1-MBE system in order to achieve 5 x 107 em mean free

path(L) of atoms?

(1) 10-7 torr (2)  10-Storr
(3) 10-° torr (4) 10-%torr
Options :

5362289221. 1
5362289222.2
5362289223. 3
5362289224. 4

Question Number : 57 Question Id : 5362282369 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which Plasma Analytical technigque involves placement of conducting probe smaller than
particle mean free path directly in the plasma?
(1) Actinometry
(2) Lesser Induced Fluorescence
(3) Retarding Grd
(4) Langmuir technigue

Options :
5362289225. 1
5362289226. 2



5362289227.3
5362289228. 4

Question Number : 57 Question Id : 5362282369 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which Plasma Analytical technigque involves placement of conducting probe smaller than

particle mean free path directly in the plasma?

(1) Actinometry

(2) Lesser Induced Fluorescence
(3 Betardinge Gmd

(4) Langmuir technigue

Options :

5362289225. 1
5362289226. 2
5362289227.3
5362289228. 4

Question Number : 58 Question Id : 5362282370 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which gas 1s used in reactive plasma for etching all three 1.e. silicides, silicon and silicon

dioxide

(1) Fo (2) BSFs
(3) CFs+ 02 (4) NFs
Options :

5362289229. 1
5362289230. 2
5362289231.3
5362289232. 4

Question Number : 58 Question Id : 5362282370 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which gas 1s used in reactive plasma for etching all three 1.e. silicides. silicon and silicon

dioxade

(1) Fa (2) B5Fs
(3) CFs+ 02 (4) NFs
Options :

5362289229. 1
5362289230. 2
5362289231.3
5362289232. 4

Question Number : 59 Question Id : 5362282371 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider a circuit as shown in figure

C—O00 i‘f"—' oo—-=0
Z1

Z o Ll
2 Bz 2
G O

The circuit is
(1) Constant K low-pass filter
(2) Constant K high-pass filter
(3) The m-derived low-pass filter
(4) The m-derived high-pass filter
Options :
5362289233. 1
5362289234, 2

5362289235.3
5362289236. 4

Question Number : 59 Question Id : 5362282371 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider a circuit as shown 1n figure

O——Ti ,UC-“"—"'O{‘JE‘}G‘—Q
Zy :

2 = Zs

The circuit 1s
(1) Constant K low-pass filter
(2) Constant K high-pass filter
(3) The m-derived low-pass filter
(4) The m-derived high-pass filter
Options :
5362289233. 1
5362289234, 2

5362289235.3
5362289236. 4

Question Number : 60 Question Id : 5362282372 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The region of convergence of the sequence x [a1]=[;; J U [n]—f }—}} u[-n-1] 1s
1 1 1
(1) —r;_|:: < (2) |:: >—
3 2 3
1 1 1
(3) z {E (4) §n| F g
Options :

5362289237. 1
5362289238. 2
5362289239. 3
5362289240. 4

Question Number : 60 Question Id : 5362282372 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



y 7

(! n
The region of convergence of the sequence x [r1]=[;lj u [n]—{ 1} u[-n—1] 1s

e
1 1 1
(1) —<|z |<— (2) z|=—
<< 2]
i L] 1
(3) o (4 —<|z|=—
2 ) gIFI3
Options :

5362289237. 1
5362289238. 2
5362289239. 3
5362289240. 4

Question Number : 61 Question Id : 5362282373 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Fourler series expansion of a periodic function with half wave symmetry contains

(1) only even harmonics
(2) only odd harmonies
(3) both even and odd harmonics
(4) no harmonics
Options :

5362289241. 1
5362289242. 2
5362289243. 3
5362289244. 4

Question Number : 61 Question Id : 5362282373 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Fourler series expansion of a periodic function with half wave symmetry contains

(1) only even harmonics
(2) only odd harmonics
(3) both even and odd harmonics
(4) no harmonics
Options :

5362289241. 1
5362289242. 2
5362289243.3
5362289244. 4



Question Number : 62 Question Id : 5362282374 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- * v
The Fourler transform of x [-n] 1s

M X (') 2 X (&%)
3 X (=) @) X (=)
Options :

5362289245. 1
5362289246. 2
5362289247.3
5362289248. 4

Question Number : 62 Question Id : 5362282374 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- * v
The Fourier transform of x [-n] 1s

O YRS @ X (&%)
3) X (-’ @) X (—e’%)
Options :

5362289245. 1
5362289246. 2
5362289247.3
5362289248. 4

Question Number : 63 Question Id : 5362282375 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The slew rate for a 741 15 0.5 V/ g second. The combination of maximum frequencies for an
undistorted sine-wave output of 10 V peak and 1 V peak are approximately

(1) 8 kHz and 80 kHz (2) 48 kHz and 4.8 kHz
(3) 20 kHz and 2 kHz (4) 2 EkHzand 20 kHz
Options :

5362289249. 1
5362289250. 2
5362289251. 3
5362289252. 4

Question Number : 63 Question Id : 5362282375 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The slew rate for a 741 is 0.5 V/ g second. The combination of maximum frequencies for an
undistorted sine-wave output of 10 V peak and 1 V peak are approximately

(1) 8 kHz and 80 kHz (2) 48 kHz and 4.8 kHz
(3) 20 kHz and 2 kH=z {(4) 2 EkHzand 20 kHz
Options :

5362289249. 1
5362289250. 2
5362289251.3
5362289252. 4

Question Number : 64 Question Id : 5362282376 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a component of basic Phase-Locked Loop (PLL)?

(1) Phase detector (2) Voltage controlled oscillator
(3) Schmitt Trgger (4) Low-pass filter
Options :

5362289253. 1
5362289254. 2
5362289255.3
5362289256. 4

Question Number : 64 Question Id : 5362282376 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a component of basie Phase-Locked Loop (PLL)?

(1) Phase detector (2) Voltage controlled oscillator
(3) Schmitt Trigger (4) Low-pass filter
Options :

5362289253. 1
5362289254.2
5362289255. 3
5362289256. 4

Question Number : 65 Question Id : 5362282377 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



If T, andT, are junction temp. and ambient temp respectively &;..68,¢ and &, are

transistor thermal resistance. insulator thermal resistance and heat-sink thermal resistance
respectively. The equation of maximum power dissipation is given by

; LR 5 ; S
(D Py——I A @ Py 3T
Gyc +6ps + 54 Oyc +0ps + 65y
Tu='F \ B )
Oyc + s + 054 O5c +6cg — sy
Options :

5362289257. 1
5362289258. 2
5362289259. 3
5362289260. 4

Question Number : 65 Question Id : 5362282377 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If T; andT, are junction temp. and ambient temp respectively &;..68,g and &g, are

transistor thermal resistance. insulator thermal resistance and heat-sink thermal resistance
rezpectively. The equation of maximum power dissipation 1s given by

i LR 5 ; S
I T @ Pp=——L -4
@rc +6cg + 54 O5c +0pg + 05y
Tu=lF { e Iy
Byc+ s + 054 03¢ +6cg — sy
Options :

5362289257. 1
5362289258. 2
5362289259. 3
5362289260. 4

Question Number : 66 Question Id : 5362282378 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If V,.; is the output reference value and V. is the ideal full-scale output voltage when the

digital inputs are all 1. Which of the following equation 1s correct?

8y vmf=vs[1—_i] @ st=1s;ef[i—1}
. 2;"1 2“-

. 1 i i )

(3) 5 - ,-ref[l—z—n] (4) ﬁxrele_.ffs[z_n—lJ

Options :



5362289261. 1
5362289262. 2
5362289263. 3
5362289264. 4

Question Number : 66 Question Id : 5362282378 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If V,.; 1s the output reference value and V. is the ideal full-scale output voltage when the

digital inputs are all 1. Which of the following equation 1s correct?

¢ 1 . {1
M ‘vmf=‘~’s[1—2—n] S "“‘ftz_“_l}
(3) V.=V §1—i] 4) V.=V, i—l\H
g fe = Voyef on V2, ref — Y1t on J
Options :

5362289261. 1
5362289262. 2
5362289263. 3
5362289264. 4

Question Number : 67 Question Id : 5362282379 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s not correct about a CPLD (Complex Programmable
Logic Device)?

(1) A CPLD 1s a logic device that consists of multiple SPLDs interconnected on a single
chip

(2) A CPLD is based on Product-Of-Sums (POS) architecture
(3) A CPLD consists of multiple group of PAL with programmable interconnection
(4) A CPLD can be used to implement large logic function

Options :

5362289265. 1
5362289266. 2
5362289267. 3
5362289268. 4

Question Number : 67 Question Id : 5362282379 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements 1s not correct about a CPLD (Complex Programmable
Logic Device)?

(1) A CPLD 1s a logic device that consists of multiple SPLDs interconnected on a single
chip
(2) A CPLD 1s based on Product-Of-Sums (POS) architecture
(3) A CPLD consists of multiple group of PAL with programmable interconnection
(4) A CPLD can be used to implement large logic function
Options :
5362289265. 1
5362289266. 2

5362289267. 3
5362289268. 4

Question Number : 68 Question Id : 5362282380 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The final code after encoding data bits 1101 into 7-bit even parity Hamming Code 1s

(1) 1110101 (2) 1011101
{(3) 1010101 (4) 0110101
Options :

5362289269. 1
5362289270. 2
5362289271.3
5362289272. 4

Question Number : 68 Question Id : 5362282380 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The final code after encoding data bits 1101 into 7-bit even parity Hamming Code 1s

(1) 1110101 () 1011101
(3) 1010101 (4) 0110101
Options :

5362289269. 1
5362289270. 2
5362289271.3
5362289272. 4

Question Number : 69 Question Id : 5362282381 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The A/O gates in which an addition variable or a combination of variables can be included in
the logic operation are called

(1) AOI Gates (2) Expandable Gates
(3) Variable Gates (4) Scalable Gates
Options :

5362289273. 1
5362289274.2
5362289275.3
5362289276. 4

Question Number : 69 Question Id : 5362282381 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The A/O gates in which an addition variable or a combination of variables can be included in
the logic operation are called

(1) AOI Gates (2) Expandable Gates
(3) Variable Gates (4) Scalable Gates
Options :

5362289273. 1
5362289274. 2
5362289275.3
5362289276. 4

Question Number : 70 Question Id : 5362282382 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The statement which 1s not applicable to a Moore machine

(1) Output 1s a function of present state only
(2) It requires more number of states for implementing same function
(3) Input changes do not affect the output

(4) The characteristic equation of output Z(f) can be given as Z(t)=g{S(t). x(t)} where
S(t) represents present state. x(f) indicates present input

Options :

5362289277. 1
5362289278. 2
5362289279. 3
5362289280. 4

Question Number : 70 Question Id : 5362282382 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

The statement which 1s not applicable to a Moore machine

(1) Output 1s a function of present state only
(2) It requires more number of states for implementing same function
(3) Input changes do not affect the output

(4) The characteristic equation of output Z(f) can be given as Z(t)=g{S(t). x(t)} where
S(t) represents present state. x(f) indicates present input

Options :

5362289277. 1
5362289278. 2
5362289279. 3
5362289280. 4

Question Number : 71 Question Id : 5362282383 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The program written below gives

MOV A #80H

CPLA.

ADDA. #

(1) 7TBH (2) BTH

(3) 78H (4) 8TH
Options :

5362289281. 1
5362289282. 2
5362289283.3
5362289284. 4

Question Number : 71 Question Id : 5362282383 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The program written below gives

MOV A #8H

CPL A,

ADDA. #

(1) 7BH (2) BTH

(3) 78H (4) B8iH
Options :

5362289281. 1
5362289282. 2
5362289283. 3
5362289284. 4

Question Number : 72 Question Id : 5362282384 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The relationship between revolution per minute (rpm). steps per revolution (spr) and steps
per second (sps) 1s gven by

60
(1) s R ADT @ rmm=—F"—
60 Sps % spr
. 60
(3) rpni =202 X SPT (4) sps=—
60 rPM % Spr
Options :

5362289285. 1
5362289286. 2
5362289287. 3
5362289288. 4

Question Number : 72 Question Id : 5362282384 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The relationship between revolution per minute (rpm). steps per revolution (spr) and steps
per second (sps) 1s given by

60
(1) 3p5=M (2) rpm=———
60 Sps ® spr
. 60
(3) rom = BPE KR, (4) sps= = S
60 rRm % Spr
Options :

5362289285. 1



5362289286. 2
5362289287. 3
5362289288. 4

Question Number : 73 Question Id : 5362282385 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What happens if Interrupts INTO0, TF0 and INT 1 are activated at the same time?

(1) They are latched and kept internally
(2) They are latched and kept externally
(2) Theyv are unlatched and kept internally
(4) They are unlatched and kept externally

Options :

5362289289. 1

5362289290. 2

5362289291. 3
5362289292. 4

Question Number : 73 Question Id : 5362282385 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What happens if Interrupts INTO0, TF0O and INT 1 are activated at the same time?

(1) They are latched and kept internally
(2) They are latched and kept externally
(3) They are unlatched and kept internally

(4) They are unlatched and kept externally

Options :

5362289289. 1
5362289290. 2
5362289291. 3
5362289292. 4

Question Number : 74 Question Id : 5362282386 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In the Register Indirect addressing mode. the effective address of the datum in the base
register or an index register that 1s specified by the instruction is

(AX) [(BX)
(1) EA=+(DI) (2) EA=(DI);
| (SI) | (SI)
(CX) (DX)]
(3) EA=<(DI) (40 FEA=¢(DI);
|(SI) (ST |

Options :

5362289293. 1
5362289294. 2
5362289295.3
5362289296. 4

Question Number : 74 Question Id : 5362282386 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the Register Indirect addressing mode. the effective address of the datum in the base
register or an index register that 1s specified by the instruction 1s

(AX) [(BX)
(1) EA=1(DI) 2y EA=(DI);
| (SI) | (SI)
((CX) [(DX)]
(3) EA=:(DI) (40 EA=¢(DI);
(SI) (ST) |

Options :

5362289293. 1
5362289294. 2
5362289295. 3
5362289296. 4

Question Number : 75 Question Id : 5362282387 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



RG-59 U type transmission line has an open circuit impedance of 150| 25° Q). and a short

circuit impedance of 37.5| —35° Q. The value of characteristic impedance is given by :

(1) 4 -5°Q (2) TH|-5"0
(3) 150| 25°Q (4) 37.5|-35"Q
Options :

5362289297. 1
5362289298. 2
5362289299. 3
5362289300. 4

Question Number : 75 Question Id : 5362282387 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RG-59 U type transmission line has an open circuit impedance of 150| 25°Q. and a short

circuit impedance of 37.5| —35° Q). The value of characteristic impedance is given by :

(1) 4 -5°Q (2) T5/-5"0
(3) 150| 2570 4) 37.5[-35"Q
Options :

5362289297. 1
5362289298. 2
5362289299. 3
5362289300. 4

Question Number : 76 Question Id : 5362282388 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

An air filled rectangular waveguide of dimension 7 = 3.5 cm?” operates 1n the dominant TEe

mode. The value of phase velocity of the wave in the guide at a frequency of 3.5 GHz 1s given
by :

(1) 3.78 x 108 m/S (2) 6.78 x 10°m/S
(3) 5.78 x 108 m/5 (4) 4.78 x 108 m/5
Options :

5362289301. 1
5362289302. 2
5362289303. 3



5362289304. 4

Question Number : 76 Question Id : 5362282388 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

An air filled rectangular waveguide of dimension 7 x 3.5 em® operates in the dominant TE0
mode. The value of phase velocity of the wave 1n the guide at a frequency of 3.5 GHz 1s given
by :

(1) 3.78 x 10* m/S (2) 6.78 x 10° m/S
(3) 5.78 x 108 m/S (4) 4.78 x 108 m/S5
Options :

5362289301. 1
5362289302. 2
5362289303. 3
5362289304. 4

Question Number : 77 Question Id : 5362282389 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In case of linear arrays of ‘n’ 1sotropic point sources of equal amplitude and spacings. The
expression for total electric field at a large distance in the direction ‘8 1s given by

1+ 1+/m¥
®© e @ s

1-¢e* Faa? ™
{3} E:W {4:1 E=1_€j,¥
Options :

5362289305. 1
5362289306. 2
5362289307. 3
5362289308. 4

Question Number : 77 Question Id : 5362282389 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In case of linear arrays of ‘n’ 1sotropic point sources of equal amplitude and spacings. The
expression for total electric field at a large distance in the direction "8’ 1s given by

B 1+e/m¥
G S g o
il 1—ein¥
{3} E:W {4:1 E=m



Options :

5362289305. 1
5362289306. 2
5362289307. 3
5362289308. 4

Question Number : 78 Question Id : 5362282390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

, :
i ) r
A sphere of radius =30 cm has a charge density [p—] where ;=200 pC ,f m® . The value
i
of total change on the sphere 1s given by

(1) 34 pC (2)y 85pC
(3) 17 pC (4) 68pC
Options :

5362289309. 1
5362289310. 2
5362289311.3
5362289312. 4

Question Number : 78 Question Id : 5362282390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

. :
! ) r
A sphere of radius ;=30 cm has a charge density [ p—] where p,=200 pC ,*'r m? . The value
4
of total change on the sphere 1s given by

(1) 34 pC (2) 85pC
(3) 17 pC (4) 68pC
Options :

5362289309. 1
5362289310. 2
5362289311. 3
5362289312. 4

Question Number : 79 Question Id : 5362282391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A VSB transmitter that transmits 25% of the other sideband along with wanted sideband.
radiates 0.625 kW when the modulation percentage 1s 60%. If we want to transmit the same
message by an AM transmitter then carrier power (in kW) required is

(1) 6.56 kW (2) 556 kW
(3) 4.56 KW (4) T7.56 kW
Options :

5362289313. 1
5362289314. 2
5362289315.3
5362289316. 4

Question Number : 79 Question Id : 5362282391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A VSB transmitter that transmits 256% of the other sideband along with wanted sideband,
radiates 0.625 kW when the modulation percentage 1s 60%. If we want to transmit the same
message by an AM transmitter then carrier power (in kW) required is

(1) 6.96 kW (2) 5.56 kW
(3) 4.56 kW (4) 7.56 kW
Options :

5362289313. 1
5362289314. 2
5362289315.3
5362289316. 4

Question Number : 80 Question Id : 5362282392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The term dispersion describe the process of

(1) reflecting light from a smooth surface
(2) the process by which light 1s absorbed by an uneven rough surface
(3) light scattering
(4) separating light into its component frequencies
Options :
5362289317. 1
5362289318. 2

5362289319. 3
5362289320. 4

Question Number : 80 Question Id : 5362282392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

The term dispersion describe the process of

(1) reflecting light from a smooth surface
(2) the process by which light is absorbed by an uneven rough surface
(3) light scattering

(4) separating light into its component frequencies

Options :

5362289317. 1
5362289318. 2
5362289319. 3
5362289320. 4

Question Number : 81 Question Id : 5362282393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a FDM system. 10 channels are multiplexed. Each channel having a BW of 50 kHz. If the
guard band between the channels are 1 kHz. the minimum bandwidth required for
transmission 1s

(1) 505 kHz (2) 500kHz
(3) 509 kHz (4) 5H10kHz
Options :

5362289321. 1
5362289322. 2
5362289323.3
5362289324. 4

Question Number : 81 Question Id : 5362282393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a FDM system. 10 channels are multiplexed. Each channel having a BW of 50 kHz. If the
guard band between the channels are 1 kHz. the minimum bandwidth required for
transmission 1s

(1) 505 kHz (2) 500kHz
(3) 509 kHz (4) 510kHz
Options :

5362289321. 1
5362289322. 2
5362289323. 3
5362289324. 4



Question Number : 82 Question Id : 5362282394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The main objective of CELL 1n a cellular mobile system 1s

(1) Higher bandwidth (2) Hand off
(3) Frequency re-use (4) Simple modulation techmgues
Options :

5362289325. 1
5362289326. 2
5362289327.3
5362289328. 4

Question Number : 82 Question Id : 5362282394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The main objective of CELL 1n a cellular mobile system 1s

(1) Higher bandwidth (2) Hand off
(3) Frequency re-use (4) Sumple modulation techniques
Options :

5362289325. 1
5362289326. 2
5362289327. 3
5362289328. 4

Question Number : 83 Question Id : 5362282395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In the following circuit £ is in the range of 8 to 40. R.=11Q. V=200V, Vp=10V . If
the Vg (saturation) = 1.0 Vand Vzg (sat)=1.5 V, over drive factor = 5. The value of power

loss 1n the transistor is given by :

<Re
il +
IE Rg I,: __i

MET I

(1) 35.07TW (2) 23.07W
(3) 13.07TW (4) 26.09W
Options :

5362289329. 1
5362289330. 2
5362289331.3
5362289332. 4

Question Number : 83 Question Id : 5362282395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In the following cirecuit § is in the range of 8 to 40. R-=11Q. V=200V, Vp=10V . If

the Vg (saturation) = 1.0 Vand Vg (sat)=1.5 V, over drive factor = 5. The value of power

—

=Re
g 1*
it b,

MBT I

loss 1n the transistor is given by :

(1) 35.07TW (2) 23.07W
(3) 13.07TW (4) 26.09W
Options :

5362289329. 1
5362289330. 2
5362289331.3
5362289332. 4

Question Number : 84 Question Id : 5362282396 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A three phase four pole induction motor 1s operating on an input frequency of 75 Hz and slip
of 4%. If the rotor resistance of the machine 15 1 Q. The torque developed by the motor 1s

given by : (Assume the operating volatge 1z 415 V. assuming stator voltage drop = 0)

(1) 6889 syn.watts (2) 7BO8 syn.watts
(3) 8995 syn.watts (4) 9998 syn.watts
Options :

5362289333. 1
5362289334. 2
5362289335.3
5362289336. 4

Question Number : 84 Question Id : 5362282396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A three phase four pole induction motor 1s operating on an input frequency of 75 Hz and ship
of 4%. If the rotor resistance of the machine 1s 1 Q. The torque developed by the motor 1s
given by : (Assume the operating volatge 1z 415 V, assuming stator voltage drop = 0)

(1) 6889 syn.watts (2) TBY8 syn.watts
(3) 8995 syn.watts (4) 9998 syn.watts
Options :

5362289333. 1
5362289334. 2
5362289335.3
5362289336. 4

Question Number : 85 Question Id : 5362282397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Insertion of negative feedback in control system affects

(1 the transient response to vanish uniformly

(2) the transient response to decay very fast

(3) no change in transient response

(4) the transient response decays at a slow rate
Options :

5362289337. 1
5362289338. 2
5362289339.3
5362289340. 4



Question Number : 85 Question Id : 5362282397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Insertion of negative feedback in control system affects

(1 the transient response to vanish uniformly

(2) the transient response to decay very fast

(3) no change in transient response

(4) the transient response decays at a slow rate
Options :

5362289337. 1
5362289338. 2
5362289339. 3
5362289340. 4

Question Number : 86 Question Id : 5362282398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For the following First Order System. The value of steady state error 1s given by

= E(s)

=5 1
: ® T = C(s)

i

(1) 0 (zero) (2) =0 (infinite)
3 Q-7 @ A+
Options :

5362289341. 1
5362289342. 2
5362289343.3
5362289344. 4

Question Number : 86 Question Id : 5362282398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For the following First Order System. The value of steady state error 1s given by

i, E(s) 1
>)— ST > CG3)

i

(1) 0 (zero) (2) =0 (infimite)
@  (1-eh) @ QL+
Options :

5362289341. 1
5362289342. 2
5362289343.3
5362289344. 4

Question Number : 87 Question Id : 5362282399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A dual-slope integrating type of A/D converter has an integrating capacitor of 0.1 #F and a
resistance of 100 k). If the reference voltage 1s 2 V. and the output of the integrator is not

to exceed to 10 V, the value of maximum time the reference voltage can be integrated 1s

(1) 10 m second (2) b0 m second
(3) o0 p second {4) 10 u second
Options :

5362289345. 1
5362289346. 2
5362289347.3
5362289348. 4

Question Number : 87 Question Id : 5362282399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A dual-slope integrating type of A/D converter has an integrating capacitor of 0.1 ¢ F and a
resistance of 100 kQ . If the reference voltage 1s 2 V. and the output of the integrator is not

to exceed to 10 V., the value of maximum time the reference voltage can be integrated 1s

(1) 10 m second (2) BHO0m second
(3) 50 u second (4) 10 usecond

Options :



5362289345. 1
5362289346. 2
5362289347. 3
5362289348. 4

Question Number : 88 Question Id : 5362282400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The wvelocity transducer consists of a moving coil suspended in the magnetic field of a

permanent magnet. It 1s not used for measurement of velocities developed in a

(1) linear manner

(2) sinusoidal manner
(3) both (1) and (2)

(4) discrete manner

Options :

5362289349. 1
5362289350. 2
5362289351. 3
5362289352. 4

Question Number : 88 Question Id : 5362282400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The wvelocity transducer consists of a moving coil suspended in the magnetic field of a

permanent magnet. It 1s not used for measurement of velocities developed in a
(1) linear manner

(2) sinusoidal manner

(3) both (1) and (2)

(4) discrete manner

Options :

5362289349. 1
5362289350. 2
5362289351.3
5362289352. 4

Question Number : 89 Question Id : 5362282401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s not the source of Error in a Thermocouple transducer

(1) Open junction (2) Thermal conduction
(3) Galvanic action (4) Hall effect
Options :

5362289353. 1
5362289354. 2
5362289355. 3
5362289356. 4

Question Number : 89 Question Id : 5362282401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s not the source of Error in a Thermocouple transducer

(1) Open junction (2) Thermal conduction
{(3) Galvanic action (4) Hall effect
Options :

5362289353. 1
5362289354. 2
5362289355.3
5362289356. 4

Question Number : 90 Question Id : 5362282402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which 1s not the important characteristics of thermistors that make them extremely useful

in measurement and control applications?

(1) the resistance — temperature characteristic
(2) the voltage — current characteristic
(3) the current — time characteristic
(4) the power — time characteristic
Options :

5362289357. 1
5362289358. 2
5362289359. 3
5362289360. 4



Question Number : 90 Question Id : 5362282402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which 1s not the important characteristics of thermistors that make them extremely useful

in measurement and control applications?

(1) the resistance — temperature characteristic
(2) the voltage — current characteristic
(3) the current — time characteristic
(4) the power — time characteristic
Options :

5362289357. 1
5362289358. 2
5362289359. 3
5362289360. 4

Question Number : 91 Question Id : 5362282403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Currents in the three terminals of a transistor are mostly diffusion currents which are

related by the minority carrier distribution in the base region. Which of the following

statements are correct?

(A)

(B)

(C)

(D)

(E)

The applied voltages control the boundary densities through the term exp(gV/kT)

The base current is the difference between the emitter and collector currents

In order to maximize emitter resistance. the emitter contact is usually made directly on

top of the emitter
Emitter Bandgap narrowing increases current gain

Emitter and collector currents are given by the minority density gradients at the

junction boundaries

Choose the most appropriate answer from the options given below :

(1)  (B).(C). (D) enly

(2) (A). (B). (E) only

(3) (C). (B). (E) only

(4) (D). (E). (A) only
Options :

5362289361. 1
5362289362. 2
5362289363. 3
5362289364. 4

Question Number : 91 Question Id : 5362282403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Currents in the three terminals of a transistor are mostly diffusion currents which are

related by the minority carrier distribution in the base region. Which of the following

statements are correct?

(A)

(B)

(C)

(D)

(E)

The applied voltages control the boundary densities through the term exp(gV/kT)

The base current is the difference between the emitter and collector currents

In order to maximize emitter resistance. the emitter contact is usually made directly on

top of the emitter
Emitter Bandgap narrowing increases current gain

Emitter and collector currents are given by the minority density gradients at the

junction boundaries

Choose the most appropriate answer from the options given below :

(1)  (B).(C). (D) enly

(2) (A). (B). (E) only

(3) (C). (B). (E) only

(4) (D). (E). (A) only
Options :

5362289361. 1
5362289362. 2
5362289363. 3
5362289364. 4

Question Number : 92 Question Id : 5362282404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The small signal model of tunnel diode can be represented as

R- G
o—WV—— £ l ]

A L8 E-R
D ]
e

B G LE SR ER
. | |
o— AN T

G Rs Ls | Jﬁ-

C; T ?‘R‘”
3
0o 0 T | l
L: o L < <

D. _E §F+R,1 L

G

where K 1s series resistance;
L 1s series inductance:
£; 5 13 junction capacitance;

— R, 1s negative resistance

Choose the most appropriate answer from the options given below :

(1) (A) only (2) (A) and (B) only
(3) (C) only (4) (C)and (D) only
Options :

5362289365. 1
5362289366. 2
5362289367. 3
5362289368. 4
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The small signal model of tunnel diode can be represented as
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where K 1s series resistance;
L 1s series inductance:
£; 5 13 junction capacitance;

— R, 1s negative resistance

Choose the most appropriate answer from the options given below :

(1) (A) only (2) (A) and (B) only
(3) (C) only (4) (C)and (D) only
Options :

5362289365. 1
5362289366. 2
5362289367. 3
5362289368. 4

Question Number : 93 Question Id : 5362282405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In which of the following techniques beam of electrons is used as a probe and the secondary
radiation 1s X-ray.

(A) LEED
(B) EMP
(C) TEM
(D) STEM
(E) EELS

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (B) and (D) only
(3) (C) and (E) only (4) (A) and (C) only
Options :

5362289369. 1
5362289370. 2
5362289371.3
5362289372. 4

Question Number : 93 Question Id : 5362282405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following techniques beam of electrons is used as a probe and the secondary
radiation 1s X-ray.

(4) LEED
(B) EMP
(C) TEM
(D) STEM
(E) EELS

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (B) and (D) only
(3) (C) and (E) only (4) (A) and (C) only
Options :

5362289369. 1
5362289370. 2
5362289371. 3
5362289372. 4

Question Number : 94 Question Id : 5362282406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which metals or alloys amongst the following, do not reduce S10: and are found to have poor

adhesion on Si10: surfaces.

Ay W

(B) Mo

(C) Al

(D) TiN

(E) WS5is

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (B) only
Options :
5362289373. 1
5362289374.2
5362289375.3
5362289376. 4
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Which metals or alloys amongst the following, do not reduce S10: and are found to have poor

adhesion on Si10: surfaces.

Ay W

(B) Mo

(C) Al

(D) TiN

(E) WS5is

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (B) only
Options :
5362289373. 1
5362289374.2
5362289375.3
5362289376. 4

Question Number : 95 Question Id : 5362282407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following gases commonly used in CVD are pyraphoric, toxic and flammable?
(A) Phosphine

(B) Argon

(C) Nitrogen Oxide

(D) Silane

(E) Nitrogen

Choose the most appropriate answer from the options given below :

(1) (B) and (C) only

(2) (C) and (E) only

(3) (B) and (E) only

(4) {A) and (D) only

Options :

5362289377. 1
5362289378. 2
5362289379. 3
5362289380. 4

Question Number : 95 Question Id : 5362282407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following gases commonly used in CVD are pyraphoric, toxic and flammable?
(A) Phosphine

(B) Argon

(C) Nitrogen Oxide

(D) Silane

(E) Nitrogen

Choose the most appropriate answer from the options given below :

(1) (B) and (C) only

(2) (C) and (E) only

(3) (B) and (E) only

(4) {A) and (D) only

Options :

5362289377. 1
5362289378. 2
5362289379. 3
5362289380. 4

Question Number : 96 Question Id : 5362282408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider a eircuit shown mn figure :

20 I-
s "-\..-"'\".-AJH \""Nl‘-‘h & o

[ I

30

Vi | Vs
I =2Vs
| |

The correct values of ¥ parameters are

1 B
() Yu=—0.Y2=——10
) 4 4
1
B) Ya= —§ 0.Y2=——0
4 4
© Yu=20Ye=-L0
4 4
b 1
Dy You=——0.Y2=——0
4 4
1 3
(E) Yai=-—— 0, Yo2o=——10
4 4

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A and (D) only
(3) (A) and (E) only (4) (C) and (D) only
Options :

5362289381. 1
5362289382. 2
5362289383.3
5362289384. 4

Question Number : 96 Question Id : 5362282408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider a eircuit shown mn figure :

20 I-
s "-\..-"'\".-AJH \""Nl‘-‘h & o

[ I

30

Vi | Vs
I =2Vs
| |

The correct values of ¥ parameters are

1 B
() Yu=—0.Y2=——10
) 4 4
1
B) Ya= —§ 0.Y2=——0
4 4
© Yu=20Ye=-L0
4 4
b 1
Dy You=——0.Y2=——0
4 4
1 3
(E) Yai=-—— 0, Yo2o=——10
4 4

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A and (D) only
(3) (A) and (E) only (4) (C) and (D) only
Options :

5362289381. 1
5362289382. 2
5362289383.3
5362289384. 4

Question Number : 97 Question Id : 5362282409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding tree are correct?
(A) All the lhinks of a tree together does not constitute the complement of the
corresponding tree

(B) A connected subgraph of a connected graph 1s a tree if there exist (n —1) nodes of the
group

(C) A connected subgraph of a connected graph is a tree if there exists many paths
between any pair of nodes 1n 1t

(D) The number of terminal nodes or end vertices of every tree are atleast two

(E) Every connected graph has atleast one tree

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3)  (B)and (D) only (4) (D) and (E) only
Options :

5362289385. 1
5362289386. 2
5362289387. 3
5362289388. 4

Question Number : 97 Question Id : 5362282409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements regarding tree are correct?
(A) All the lhinks of a tree together does not constitute the complement of the

corresponding tree

(B) A connected subgraph of a connected graph 1s a tree if there exist (n —1) nodes of the
group

(C) A connected subgraph of a connected graph is a tree if there exists many paths
between any pair of nodes 1n 1t

(D) The number of terminal nodes or end vertices of every tree are atleast two

(E) Every connected graph has atleast one tree

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3)  (B)and (D) only (4) (D) and (E) only
Options :

5362289385. 1
5362289386. 2
5362289387.3
5362289388. 4



Question Number : 98 Question Id : 5362282410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are not correct?

(A) Precision rectifiers use positive feedback to compensate for the forward drop of the
diodes

(B) Precision peak detector uses a capacitor to effectively lengthen the duration of the

peaks
(C) Limiters may be thought of as programmable signal chippers
(D) In order to improve performance of comparators negative feedback may be used

(E) There are two basic approaches for realizing a design : (1) using zener diodes and

(2) using biased-signal diode network

Choose the most appropriate answer from the options given below :

(1) (A) and (D) only (2) (D) and (E) only
(3) (A) and (C) only (4) (B) and (D) only
Options :

5362289389. 1
5362289390. 2
5362289391.3
5362289392. 4

Question Number : 98 Question Id : 5362282410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are not correct?

(A) Precision rectifiers use positive feedback to compensate for the forward drop of the
diodes

(B) Precision peak detector uses a capacitor to effectively lengthen the duration of the

peaks
(C) Limiters may be thought of as programmable signal chippers
(D) In order to improve performance of comparators negative feedback may be used

(E) There are two basic approaches for realizing a design : (1) using zener diodes and

(2) using biazed-signal diode network

Choose the most appropriate answer from the options given below :

(1) (A) and (D) only (2) (D) and (E) only
(3) (A) and (C) only (4) (B) and (D) only
Options :

5362289389. 1
5362289390. 2
5362289391. 3
5362289392. 4

Question Number : 99 Question Id : 5362282411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The network formed by resistors and capacitors for modifying the rate of change of gain and
the phase shift 1s called a compensating network. Which of the following statements are not

correct?

(A) The main purpose of a compensating network 1= to modify the performance of op-amp

ciruit over the desired frequency range
(B) There are two types of op-amps : internally compensated and externally compensated

(C) 741 C 1s an externally compensated op-amp while 709 C is internally compensated

op-amp

(D) The phase lag and phase lead are most commonly used compensating networks in

op-amps
(E) Phase lag contributes a positive phase angle and phase lead a negative phase angle

Choose the most appropriate answer from the options given below :

(1) (B) and (C) only (Z2) (B) and (E) only
(3) (C) and (D) only (4) (C)and (E) only
Options :

5362289393. 1
5362289394. 2
5362289395. 3
5362289396. 4

Question Number : 99 Question Id : 5362282411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The network formed by resistors and capacitors for modifying the rate of change of gain and
the phase shift 1s called a compensating network. Which of the following statements are not

correct?

(A) The main purpose of a compensating network 1= to modify the performance of op-amp

ciruit over the desired frequency range
(B) There are two types of op-amps : internally compensated and externally compensated

(C) 741 C 1s an externally compensated op-amp while 709 C is internally compensated

op-amp

(D) The phase lag and phase lead are most commonly used compensating networks in

op-amps
(E) Phase lag contributes a positive phase angle and phase lead a negative phase angle

Choose the most appropriate answer from the options given below :

(1) (B) and (C) only (Z2) (B) and (E) only
(3) (C) and (D) only (4) (C)and (E) only
Options :

5362289393. 1
5362289394. 2
5362289395. 3
5362289396. 4

Question Number : 100 Question Id : 5362282412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Three major types of programmable logic are SPLD, CPLD and FPGA. Each major type have
many manufacturer specific subcategories. Some statements are given below related to these

programmable logic devices.

Which of the following statements are correct?

(A) CPLDs have much higher capacity than SPLDs

(B) FPGAs are similar to CPLDs in their internal organization

(C) Two basic classes of FPGAs are course grained and fine grained

(D) Fine grained FPGA has large logic blocks while course-grained FPGA has much
smaller logic blocks

(E) FPGASs come 1n package and ranging less than 1000 pins.

Choose the most appropriate answer from the options given below :

(1) (A) and (D) only (2) (B) and (D) only
{3) (B) and (C) only (4) (A) and (C) only
Options :

5362289397. 1
5362289398. 2
5362289399. 3
5362289400. 4

Question Number : 100 Question Id : 5362282412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Three major types of programmable logic are SPLD, CPLD and FPGA. Each major type have
many manufacturer specific subcategories. Some statements are given below related to these

programmable logic devices.

Which of the following statements are correct?

(A) CPLDs have much higher capacity than SPLDs

(B) FPGAs are similar to CPLDs in their internal organization

(C) Two basic classes of FPGAs are course grained and fine grained

(D) Fine grained FPGA has large logic blocks while course-grained FPGA has much
smaller logic blocks

(E) FPGASs come 1n package and ranging less than 1000 pins.

Choose the most appropriate answer from the options given below :

(1) (A) and (D) only (2) (B) and (D) only
{3) (B) and (C) only (4) (A) and (C) only
Options :

5362289397. 1
5362289398. 2
5362289399. 3
5362289400. 4

Question Number : 101 Question Id : 5362282413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The performance parameters of a logic family are required for better understanding. The

following statements explain the characteristics of Digital logic family., Which of these

statementes are correct?

(A)

(B)

(C)

(D)

The operating speed of a logic family 1s determined from its propagation delay

Power dissipation 1s inversely proportional to switching frequency and directly

proportional to evele time

Fan-in 1s defined as maximum number of inputs for a logic gate in a particular logic
family

Fan-out is defined as number of dissimilar logie gates driven by a single logic gate

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (A) and (C) only
(3) (A) and (D) only (4) (B)and (C) only
Options :

5362289401. 1
5362289402. 2
5362289403. 3
5362289404. 4

Question Number : 101 Question Id : 5362282413 Question Type : MCQ Option Shuffling : No Is Question
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Correct Marks : 2 Wrong Marks : 0



The performance parameters of a logic family are required for better understanding. The

following statements explain the characteristics of Digital logic family., Which of these

statementes are correct?

(A)

(B)

(C)

(D)

The operating speed of a logic family 1s determined from its propagation delay

Power dissipation 1s inversely proportional to switching frequency and directly

proportional to evele time

Fan-in 1s defined as maximum number of inputs for a logic gate in a particular logic
family

Fan-out is defined as number of dissimilar logie gates driven by a single logic gate

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (A) and (C) only
(3) (A) and (D) only (4) (B)and (C) only
Options :

5362289401. 1
5362289402. 2
5362289403. 3
5362289404. 4

Question Number : 102 Question Id : 5362282414 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In case of the parallel adder, the speed with which an addition can be performed 1s governed

by the time required for the carries to propagate or ripple through all the stages of the adder.

Which of the following statements are correct?

(A)

(B)

(C)

(D)

The method of speeding up the addition process 1s based on additional functions of full-

adder called carry generate and carry propagation
The look-ahead-carry adder speeds up the process by eliminating ripple carry delay.

The final sum output of the ntt stage is given by S, =F, ©C, where P, =4 @B,

The final carry output of n™ stage is given by C, =G, + P, where G, =4 -B

n n n

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (B) only
(A) and (C) only
(A). (B) and (C) only
(B), (C) and (D) only

Options :

5362289405. 1
5362289406. 2
5362289407. 3
5362289408. 4

Question Number : 102 Question Id : 5362282414 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In case of the parallel adder, the speed with which an addition can be performed 1s governed

by the time required for the carries to propagate or ripple through all the stages of the adder.

Which of the following statements are correct?

(A)

(B)

(C)

(D)

The method of speeding up the addition process 1s based on additional functions of full-

adder called carry generate and carry propagation
The look-ahead-carry adder speeds up the process by eliminating ripple carry delay.

The final sum output of the ntt stage is given by S, =F, ©C, where P, =4 @B,

The final carry output of n™ stage is given by C, =G, + P, where G, =4 -B

n n n

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (B) only
(A) and (C) only
(A). (B) and (C) only
(B), (C) and (D) only

Options :

5362289405. 1
5362289406. 2
5362289407. 3
5362289408. 4

Question Number : 103 Question Id : 5362282415 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For the 40-character wide LCD, the upper address range can go as high as :

(A) 0101011

(B) 1000000
(C) 0100111
(D) 1001000
(E) 1011111

Choose the most appropriate answer from the options given below :

(1) (C) only
(2) (A) only
(3) (D) only

(4) (B) and (E) only

Options :

5362289409. 1
5362289410. 2
5362289411.3
5362289412. 4

Question Number : 103 Question Id : 5362282415 Question Type : MCQ Option Shuffling : No Is Question
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For the 40-character wide LCD, the upper address range can go as high as :

(A) 0101011
(B) 1000000
(C) 0100111
(D) 1001000
(E) 1011111

Choose the most appropriate answer from the options given below :

(1) (C) only
(2) (A) only
(3) (D) only

(4) (B) and (E) only

Options :

5362289409. 1
5362289410. 2
5362289411.3
5362289412. 4

Question Number : 104 Question Id : 5362282416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Keyboards are organised in a matrix. The CPU of 8051 accesses both rows and columns
through 1ts ports. So. it can access

(A) 4 x4 matrix of keys
(B) 8 = 8 matrix of keys
(C) 16 x 16 matrix of keys
(D) 2 =2 matrx of keys
(E) 32 x 32 matrix of keys

Choose the most appropriate answer from the options given below :

(1) (B) only (Z2) (A) only
(3) (C) only (4) (D) and (E) only
Options :

5362289413. 1
5362289414. 2
5362289415. 3
5362289416. 4



Question Number : 104 Question Id : 5362282416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Keyboards are organised in a matrix. The CPU of 8051 accesses both rows and columns
through 1ts ports. So. it can access

(A) 4 x4 matrix of keys
(B) 8 = 8 matrx of keys
(C) 16 x 16 matrix of keys
(D) 2 =2 matrix of keys
(E) 32 x 32 matrix of keys

Choose the most appropriate answer from the options given below :

(1) (B) only (Z2) (A only
(3) (C) only (4) (D) and (E) only
Options :

5362289413. 1
5362289414. 2
5362289415. 3
5362289416. 4

Question Number : 105 Question Id : 5362282417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For an EM wave ray traversing from air, medium 1 to a conducting Medium 2.

Following statements are given :

Medium 2
e 3 conductor
Air = o
Medium :_F--_—:_': >
= ':_-F--"_’_ Et
E; L
--::_"d_-_ zu:
- =
Zo _‘_’_‘_'::{j

)
(A) Et:‘ZC E.
Zy
® E-=Z2c=%p
Lo+ 2,
(C) Er=i}:i
D) H,~ 2H;
(E) H,~ H,

Which of the above are correct?

Choose the most appropriate answer from the options given below :

(1) (A). (B), (D) only (2) (A), (), (E) only
(3) (A). (B). (E) only (4) (B). (C). (D) only
Options :

5362289417. 1
5362289418. 2
5362289419. 3
5362289420. 4

Question Number : 105 Question Id : 5362282417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
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For an EM wave ray traversing from air, medium 1 to a conducting Medium 2.

Following statements are given :

Medium 2
e 3 conductor
Air = o
Medium :_F--_—:_': >
= ':_-F--"_’_ Et
E; L
--::_"d_-_ zu:
- =
Zo _‘_’_‘_'::{j

)
(A) Et:‘ZC E.
Zy
® E-=Z2c=%p
Lo+ 2,
(C) Er=i}:i
D) H,~ 2H;
(E) H,~ H,

Which of the above are correct?

Choose the most appropriate answer from the options given below :

(1) (A). (B). (D) only (2)  (A). (C). (E) only
(3) (A). (B). (E) only (4) (B). (C). (D) only
Options :

5362289417. 1
5362289418. 2
5362289419. 3
5362289420. 4

Question Number : 106 Question Id : 5362282418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A dielectric medium has a relative permittivity &, =6. for this the values of Index of
Refraction and Phase velocity are given

(A) n==6

B) n=2.45

(C) Phase Velocity = 3 = 10% m/s

(D) Phase Velocity = 1.22 = 10% m/s

Choose the most appropriate answer from the options given below :

(1) (A), (C) only (2) (A). (D) only
(3) (B). (D) only (4) (B). (C) only
Options :

5362289421. 1
5362289422. 2
5362289423. 3
5362289424. 4

Question Number : 106 Question Id : 5362282418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A dielectric medium has a relative permittivity &, =6, for this the values of Index of
Refraction and Phase velocity are given

A) =06
B) n=2.45

(C) Phase Velocity = 3 x 108 m/s
(D) Phase Velocity = 1.22 = 10° m/s

Choose the most appropriate answer from the options given below :

(1) (A). (C) only (2)  (A). (D) only
(3) (B). (D) only (4) (B). (C) only
Options :

5362289421. 1
5362289422.2
5362289423.3
5362289424. 4

Question Number : 107 Question Id : 5362282419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A plane wave of frequency 2 GHz travelling in air parallel to a flat ground plane with
H parallel to the ground plane losses 3 £ W/m? into the ground plane having conductivity
o= 10"0/m. p:= €,=1. The following data is given

(A) E=3.89V/m
(B) E=8098V/m
(C) H=10.33 mA/m
(D) H=3.97 mA/m

Choose the most appropriate answer from the options given below :

(1)  (A), (C) only (2)  (A). (D) only
(3)  (B). (C)only (4 (B). (D) only
Options :

5362289425. 1
5362289426. 2
5362289427. 3
5362289428. 4

Question Number : 107 Question Id : 5362282419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A plane wave of frequency 2 GHz travelling in air parallel to a flat ground plane with
H parallel to the ground plane losses 3 4 Wim? into the ground plane having conductivity
o= 1070/m, pr= €,=1. The following data is given

(A) E=3.89V/m
(B) E=8.98V/m
(C) H=10.33 mA/m
(D) H=397mA/m

Choose the most appropriate answer from the options given below :

(1) (A). (C) only (2) (A). (D) only
(3) (B). (C) only (4) (B). (D) only
Options :

5362289425. 1
5362289426. 2
5362289427. 3
5362289428. 4

Question Number : 108 Question Id : 5362282420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about the matched filter in a communication receiver are
correct?

(A) It may produce phase error if synchronization is improper

(B) Its impulse response depends on the singal shape

(C) The characteristics of the matched filter 1s matched with the transmitted data
(D) It produces inter symbol interference

(E) It measures the correlation between incoming received message and 1ts impulse
response

Choose the correct answer from the options given below :

(1) (B). (C). (E) only (Z) (A). (B). (C) only
(3) (C). (D). (E) only (4) (A). (D). (E) only
Options :

5362289429. 1
5362289430. 2
5362289431.3
5362289432. 4

Question Number : 108 Question Id : 5362282420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements about the matched filter in a communication receiver are
correct?

(A) It may produce phase error if synchronization 1s improper

(B) Itsimpulse response depends on the singal shape

(C) The characteristics of the matched filter 1s matched with the transmitted data
(D) It produces inter symbol interference

(E) It measures the correlation between Incoming received message and 1ts impulse
response

Choose the correct answer from the options given below :

(1) (B). (C). (E) only (2) (A, (B). (C) only
(3) (C). (D). (E) only (4) (A). (D). (E) only
Options :

5362289429. 1
5362289430. 2
5362289431.3
5362289432. 4

Question Number : 109 Question Id : 5362282421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

(A) A parity check code can detect and correct single bit error

(B) The efficiency of Huffman code 1s linearly proportional to average entropy
(C) Coding increases the channel bandwidth

(D) Coding increases the information rate

(E) A code dictionary with minimum distance 2 1s not capable of error correction.

Choose the correct answer from the options given below :

(1)  (A). (B). (D) only (2) (B). (D). (E) only
(3) (A (O). (D) only (4) (B), (C). (D) only
Options :

5362289433. 1
5362289434. 2
5362289435. 3
5362289436. 4

Question Number : 109 Question Id : 5362282421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

(A) A parity check code can detect and correct single bit error

(B) The efficiency of Huffman code 1s linearly proportional to average entropy
(C) Coding increases the channel bandwidth

(D) Coding increases the information rate

(E) A code dictionary with minimum distance 2 1s not capable of error correction.

Choose the correct answer from the options given below :

(1) (&) (B). (D) only (2)  (B). (D). (E) only
(3 A (C). (D) only (4) (B). (C). (D) only
Options :

5362289433. 1
5362289434. 2
5362289435. 3
5362289436. 4

Question Number : 110 Question Id : 5362282422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Whach of the following statements are correct?

(A) A given source will have maximum entropy if the message produced are statistically
independent

(B) As the bandwidth approaches infimty, the channel capacity becomes zero.

(C) For binary transmission the baud rate 1s always equal to bit rate

(D) The mutual information of a channel with independent input and output is constant

(E) Nat 1= a unit of information

Choose the correct answer from the options given below :

(1) (A) and (E) only (Z2) (A) and (B) only
(3) (C) and (E) only (4) (A). (D) and (E) only
Options :

5362289437. 1
5362289438. 2
5362289439. 3
5362289440. 4

Question Number : 110 Question Id : 5362282422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

(A) A given source will have maximum entropy if the message produced are statistically
independent

(B) As the bandwidth approaches infinity, the channel capacity becomes zero.

(C) For binary transmission the baud rate 1s always equal to bit rate

(D) The mutual information of a channel with independent input and output is constant

(E) Nat 18 a unit of information

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A) and (B) only
(3) (C) and (E) only (4) (A) (D) and (E) only
Options :

5362289437. 1
5362289438. 2
5362289439. 3
5362289440. 4

Question Number : 111 Question Id : 5362282423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A differential transformer

(A) 1s a differential voltage of two secondary windings of a transformer i1s varied by
positioning the magnetic core through an externally apphed force

(B) 1= used for pressure measurement

(C) 12 used for force measurement

(D) 1s used for displacement measurement

(E) 1s used for positlon measurement

Choose the correct answer from the options given below :

(1) (A) only (2) (B) only
(3) (C) only (4) (A, (B). (C), (D). (E) only
Options :

5362289441. 1
5362289442. 2
5362289443. 3
5362289444. 4

Question Number : 111 Question Id : 5362282423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A differential transformer
(A) 1s a differential voltage of two secondary windings of a transformer i1s varied by
positioning the magnetic core through an externally apphed force
(B) 1= used for pressure measurement
(C) 12 used for force measurement
(D) 1s used for displacement measurement

(E) 1s used for positlon measurement

Choose the correct answer from the options given below :

(1) (A) only (2) (B) only
(3) (C) only (4) (A, (B). (O). (D), (E) only
Options :

5362289441. 1
5362289442. 2
5362289443. 3
5362289444. 4

Question Number : 112 Question Id : 5362282424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The wheatstone bridge 1s widely used for precizsion mesurement of resistance :

(A) from 10 tofew MO
(B) very low resistance
(C)  wery high resistance
(D) ImO-10kO

(E) 010 -100 kO

Chooe the correct answer from the options given below :

(1) (A) only (2) (A) and (B) only
(3) (B) and (C) only (4) (D) and (E) only
Options :

5362289445. 1
5362289446. 2
5362289447.3
5362289448. 4

Question Number : 112 Question Id : 5362282424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The wheatstone bridge 1s widely used for precizsion mesurement of resistance :

(A) from 10 tofew MO
(B) very low resistance
(C)  wery high resistance
(D) ImO-10kO

(E) 010 -100 kO

Chooe the correct answer from the options given below :

(1) (A) only (2) (A) and (B) only
(3) (B) and (C) only (4) (D) and (E) only
Options :

5362289445. 1
5362289446. 2
5362289447.3
5362289448. 4

Question Number : 113 Question Id : 5362282425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Schering bridege. one of the most important AC brdge

(A) It 1s used for capacitance measurement
(B) It 1= used for phase angle measurement
(O It 18 used for inductance measurement
(D) It is used for resistance measurement
(E) It 1s used for torque measurement

Chooe the correct answer from the options given below :

(1) (A) and (B) only (2y  (C) only
(3) (D) only (4) (E)only
Options :

5362289449. 1
5362289450. 2
5362289451.3
5362289452. 4

Question Number : 113 Question Id : 5362282425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Schering bridege. one of the most important AC brdge

(A) It 1s used for capacitance measurement
(B) It 1= used for phase angle measurement
(O It 18 used for inductance measurement
(D) It is used for resistance measurement
(E) It 1s used for torque measurement

Chooe the correct answer from the options given below :

(1) (A) and (B) only (2y  (C) only
(3) (D) only (4) (E)only
Options :

5362289449. 1
5362289450. 2
5362289451. 3
5362289452. 4

Question Number : 114 Question Id : 5362282426 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For the unit step response of second order system following statements are given :

(A) Delay time is the time required for the response to reach 60% of the final value in first
attempt

(B) Settling time 1= the time required for the response to reach and stay within
(2% or %) tolerance band of its final value

(C) Delay time 1s the time required for the response to reach 50% of the final value in first
attempt

(D)  Settling time 1s the time required for the response to reach and stay within 15% of the
final value

Which of the above are correct?

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (D) only

Options :

5362289453. 1
5362289454. 2
5362289455. 3
5362289456. 4

Question

Number : 114 Question Id : 5362282426 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For the unit step response of second order system following statements are given :

(A) Delay time 1s the time required for the response to reach 60% of the final value in first
attempt

(B) Settling time is the time required for the response to reach and stay within
(2% or 5%) tolerance band of its final value

(C) Delay time is the time required for the response to reach 50% of the final value in first
attempt

(D) Settling time 1s the time required for the response to reach and stay within 15% of the
final value

Which of the above are correct?

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only

(3) (C) and (D) only (4) (A) and (D) only

Options :

5362289453. 1
5362289454. 2
5362289455.3
5362289456. 4



Question Number : 115 Question Id : 5362282427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A unity feedback system as shown has damping ratio of 0.8 using derivative control

R(s) _* _16 .
%GC'H 51 + 163 CE:E']

T

Following parameters are obtained

(A) Characteristic equation 1s s 241.65+16=0
(B) £=0.2 (without derivative control)

(C) £=0.8 (without derivative control)

(I @, =4 rad/sec

Choose the most appropriate answer from the options given below :

(1)  (A).(O). (D) only (2) (B). (D) only
(3) (A (B). (D) only 4 (0. (D)
Options :

5362289457. 1
5362289458. 2
5362289459. 3
5362289460. 4

Question Number : 115 Question Id : 5362282427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A unity feedback system as shown has damping ratio of 0.8 using derivative control

Ris) +5 Gg 16
£ 52+ 16s C(s)

T

Following parameters are obtained

(A) Characteristic equation is s 241.65+16=0
(B) £=0.2 (without derivative control)

(C) £=0.8 (without derivative control)

() @, =4 rad/sec

Choose the most appropriate answer from the options given below :

(1)  (A).(O). (D) only (2) (B). (D) only
(3) (A (B). (D) only 4 (0). D)
Options :

5362289457. 1
5362289458. 2
5362289459. 3
5362289460. 4

Question Number : 116 Question Id : 5362282428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I wath Last IT

List T List IT

(Volt — ampere characteristies of (Observation)
tunnel diode)

(a) At peak current I . corresponding to (1) Resistance becomes and remains

positive
VP
(b) If voltage increases beyond 1’}. (1) Current reaches I , (peak current) and
Increases
(¢) When voltage 1s just more than valley , _
voltage (111) ? 1s negative
(d) When voltage 15 more than peak ]
forward voltage (iv) Slope v 1s Zero

Chooe the correct answer from the options given below :

(1)  (a)-G). (b)-(11). (e)-(i11). (d)-(iv)
(2) (a)-(v), (b)-(111). (c)-(1), (d)-(11)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(112)
(4) (a)-(111). (b)-(v). (e)-(11). (d)-(1)

Options :

5362289461. 1
5362289462. 2
5362289463. 3
5362289464. 4

Question Number : 116 Question Id : 5362282428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I wath Last IT

List T List IT

(Volt — ampere characteristies of (Observation)
tunnel diode)

(a) At peak current I . corresponding to (1) Resistance becomes and remains

positive
VP
(b) If voltage increases beyond 1’}. (1) Current reaches I , (peak current) and
Increases
(¢) When voltage 1s just more than valley , _
voltage (111) ? 1s negative
(d) When voltage 15 more than peak ]
forward voltage (iv) Slope v 1s Zero

Chooe the correct answer from the options given below :

(1)  (a)-G). (b)-(11). (e)-(i11). (d)-(iv)
(2) (a)-(v), (b)-(111). (c)-(1), (d)-(11)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(112)
(4) (a)-(111). (b)-(v). (e)-(11). (d)-(1)

Options :

5362289461. 1
5362289462. 2
5362289463. 3
5362289464. 4

Question Number : 117 Question Id : 5362282429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with Last IT

ListI
(Diffusion profile measurement technigue)
(a) Capacitance — voltage (1)
(b) Differential - conductance (11)
(c) spreading resistance (111)
(@ RBS (iv)

List IT
(Characteristics)

Not suitable for diffusion studies in
VLSI process when shallow junection
profile are of interest

Needs Van dec graff generator
Two — point probe arrangement

Concentration near the junction
space — charge reglon at zero bias
cannot be measured

Choose the correct answer from the options given below :

1)  (@-O. (®)-1). (©)-1v). (d)-(111)
(2)  (a)-(w). (b)-(1). (e)-(11). (d)-(11)
(3)  (a)-(m). (b)-(v), (e)-(11). (d)-()
(4) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)

Options :

5362289465. 1

5362289466. 2

5362289467. 3
5362289468. 4

Question Number : 117 Question Id : 5362282429 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with Last IT

ListI
(Diffusion profile measurement technigue)
(a) Capacitance — voltage (1)
(b) Differential - conductance (11)
(c) spreading resistance (111)
(@ RBS (iv)

List IT
(Characteristics)

Not suitable for diffusion studies in
VLSI process when shallow junection
profile are of interest

Needs Van dec graff generator
Two — point probe arrangement

Concentration near the junction
space — charge reglon at zero bias
cannot be measured

Choose the correct answer from the options given below :

1)  (@-O. (®)-1). (©)-1v). (d)-(111)
(2)  (a)-(w). (b)-(1). (e)-(11). (d)-(11)
(3)  (a)-(m). (b)-(v), (e)-(11). (d)-()
(4) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)

Options :

5362289465. 1

5362289466. 2

5362289467. 3
5362289468. 4

Question Number : 118 Question Id : 5362282430 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

ListI List IT
(h parameter) (T parameter)

(a) h'll {i:, £
D

(b) Iys .. 1

- @ =

D
©  hoy i) %
@ e (iv) %

Choose the correct answer from the options given below :

(1) (a)-(av), (b)-(1). (e)-(2). (d)-(111)
@) (a)-1). b)-Q). (e)-(v). (d)-(1i1)
(3)  (a)-(). (b)-(111), (e)-(1). (d)-(1v)
4)  (a)-(11). (b)-(). (¢)-(1). (d)-(v)

Options :

5362289469. 1
5362289470. 2
5362289471.3
5362289472. 4

Question Number : 118 Question Id : 5362282430 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

ListI List IT
(h parameter) (T parameter)

(a) h'll {i:, £
D

(b) Iys .. 1

- @ =

D
©  hoy i) %
@ e (iv) %

Choose the correct answer from the options given below :

(1) (a)-(av), (b)-(1). (e)-(2). (d)-(111)
@) (a)-1). b)-Q). (e)-(v). (d)-(1i1)
(3)  (a)-(). (b)-(111), (e)-(1). (d)-(1v)
4)  (a)-(11). (b)-(). (¢)-(1). (d)-(v)

Options :

5362289469. 1
5362289470. 2
5362289471.3
5362289472. 4

Question Number : 119 Question Id : 5362282431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T wath List IT

List I List II
(Configuration) (Equation of Base current)
(a) Fixed Bias - .
G) Iy=——Ccc—VEE
Ry +(B+1)R;
{hj Emlt-tf']f B.iﬂE . 'l.:;?' _ '[f:"
(i) Iy=——EE_VEE
Ry +(8+1)R;
(c) Emtter follower B B ee —Vag
RB
= : Vo =V
(d) Common - base o) 1, Ve Ve
Re(8+1)

Choose the correct answer from the options given below :

(1) (a)-(11), (b)-(111). (c)-(1). (d)-(1v)
(2 (a)-(11). (b)-(111). (c)-(iv). (d)-(1)
(3) (a)-(111). (b)-(11), (e)-(1v), (d)-(1)
(4) (a)-(111), (b)-(1). (e)-(11). (d)-(1v)

Options :

5362289473. 1
5362289474. 2
5362289475.3
5362289476. 4

Question Number : 119 Question Id : 5362282431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T wath List IT

List I List II
(Configuration) (Equation of Base current)
(a) Fixed Bias - .
G) Iy=——Ccc—VEE
Ry +(B+1)R;
{hj Emlt-tf']f B.iﬂE . 'l.:;?' _ '[f:"
(i) Iy=——EE_VEE
Ry +(8+1)R;
(c) Emtter follower B B ee —Vag
RB
= : Vo =V
(d) Common - base o) 1, Ve Ve
Re(8+1)

Choose the correct answer from the options given below :

(1) (a)-(11), (b)-(111). (c)-(1). (d)-(1v)
(2 (a)-(11). (b)-(111). (c)-(iv). (d)-(1)
(3) (a)-(111). (b)-(11), (e)-(1v), (d)-(1)
(4) (a)-(111), (b)-(1). (e)-(11). (d)-(1v)

Options :

5362289473. 1
5362289474. 2
5362289475.3
5362289476. 4

Question Number : 120 Question Id : 5362282432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

LastI Last IT
(a) Simplest type of ADC (1 Flash — type ADC
(b) Fastest ADC (1) dual — slope type ADC
(c) Blowest ADC (111) counter— type ADC
(d) Most widely used ADC (1v) Successive — approximation type ADC

Choose the correct answer from the options given below :

(1) (a)-(u), (b)-(). (c)-(11), (d)-(v)
(2) (-G, 0)-(v), (©)-Q), (d)-(1i1)
(3) (a)-(1v). (b)-(11), (c)-(11), (d)-()
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options :

5362289477. 1

5362289478. 2

5362289479. 3
5362289480. 4

Question Number : 120 Question Id : 5362282432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List T with List IT

LastI Last IT
(a) Simplest type of ADC (1 Flash — type ADC
(b) Fastest ADC (1) dual — slope type ADC
(c) Blowest ADC (111) counter— type ADC
(d) Most widely used ADC (1v) Successive — approximation type ADC

Choose the correct answer from the options given below :

(1) (a)-(u), (b)-(). (c)-(11), (d)-(v)

(2) (-G, 0)-(v), (©)-Q), (d)-(1i1)

(3) (a)-(1v). (b)-(11), (c)-(11), (d)-()

(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
Options :

5362289477. 1
5362289478. 2



5362289479. 3
5362289480. 4

Question Number : 121 Question Id : 5362282433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List T with List IT

List I List IT
(Interrupt) (ROM location (Hex.))
(a) Reset (1) 001B
(b) External hardware int. 0 (INTO) (1) 0003
() Timer 0 interrupt (TFQ) (m) 000B
(d) Timer 1 interrupt (TF1) (iv) 0000

Choose the correct answer from the options given below :

(1) (a)-v). (b)-(). (e)-(111). (d)-()
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
3y  (a)-(u), (b)-(1), (c)-av). (d)-()
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

Options :

5362289481. 1
5362289482. 2
5362289483. 3
5362289484. 4

Question Number : 121 Question Id : 5362282433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(Interrupt) (ROM location (Hex.))
{a) Reset (v 001B
(b) External hardware int. 0 (INTO) (1) 0003
(¢) Timer 0 interrupt (TFQ) (m1) 000B
(d) Timer 1 interrupt (TF1) (iv) 0000

Choose the correct answer from the options given below :

(1 (@)-(v). (b)-(11). (c)-(m1). (d)-(1)
(2) (a)-(1v). (b)-(11). (¢)-(11). (d)-(1)
(3) (a)-(111). (b)-(11}. (c)-(av). (d)-(1)
(4) (2)-(@). (b)-(11). (¢)-(i1). (d)-(iv)

Options :

5362289481. 1
5362289482. 2
5362289483. 3
5362289484. 4

Question Number : 122 Question Id : 5362282434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) Klystron (1) Slow structure
(b) Transfer Electron devices (1) Bunching
(¢ MESFET (11) Warm electrons
(d) Travelling wave tube (iv) Pinch - off

Choose the correct answer from the options given below :

(1) (a)-(11). (b)-(112), (c)-(1v). (d)-(1)
(2)  (a)-(1). (b)-(ii1). (e)-(11). (d)-(iv)
(3) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
4 (2)-(v). (b)-(iii). (c)-(ii). (d)-(i)

Options :

5362289485. 1
5362289486. 2
5362289487. 3
5362289488. 4

Question Number : 122 Question Id : 5362282434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) Klystron (1) Slow structure
(b) Transfer Electron devices (1) Bunching
(¢ MESFET (11) Warm electrons
(d) Travelling wave tube (iv) Pinch - off

Choose the correct answer from the options given below :

(1) (a)-(). (b)-(iid). (e)-(iv). (d)-()
(2)  (@-(). (b)-(i11). (¢)-(1), (d)-(v)
(3) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(4) (a)-(1v). (b)-(111), (c)-(11). (d)-(2)

Options :

5362289485. 1
5362289486. 2
5362289487. 3
5362289488. 4

Question Number : 123 Question Id : 5362282435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match Last T with List IT

Last I Last IT
(a) DPSK (1) Non coherent detector
(b) AM (1) Ratio detector
(ey FM (1) Coherent detector
(dy DSB-S8C (1iv) Reectifier Detector

Choose the correct answer from the options given below :

(1) (a)-(). (b)-(iv). (e)-(11). (d)-(iid)
(2) (a)-(111). (b)-(). (c)-(v). (d)-(11)
(3) (a)-(11). (b)-(111), (c)-(1). (d)-(iv)
(4)  (a)-(v). (b)-(i1), (c)-(11). (d)-(2)



Options :

5362289489. 1
5362289490. 2
5362289491. 3
5362289492. 4

Question Number : 123 Question Id : 5362282435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match Last T with List IT

List I Last IT
(a) DPSK (1 Non coherent detector
(b) AM (1) Ratio detector
(cy FM (1) Coherent detector
(d) DSB-S8C (1iv) Rectifier Detector

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(111), (b)-(1). (¢)-(iv), (d)-(11)
(3) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(4 (a)-(1v). (b)-(11). (c)-(11). (d)-(1)

Options :

5362289489. 1
5362289490. 2
5362289491. 3
5362289492. 4

Question Number : 124 Question Id : 5362282436 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

For time response of a second order svstem

List I List IT
(a) Slower time costant : 1
(1) —
(g+1flf‘ +1 ]&Jﬂ
(b) Rise time . 1
(11}
4l
c Settling time s
(c) g @D T—g 2
@, —1,‘."1 =
(d) Faster time constant . 1
(1v)

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(111). (c)-(1v), (d)-(11)
(2) (a)-(11), (b)-(11), (c)-(v), (d)-()
(3)  (@-Gv), (b)-(iii), (¢)-(). (d)-(1)
(4) (a)-(111), (b)-(iv), (c)-(1), (d)-(11)

Options :

5362289493. 1
5362289494, 2
5362289495. 3
5362289496. 4

Question Number : 124 Question Id : 5362282436 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

For time response of a second order svstem

List I List IT
(a) Slower time costant : 1
(1) —
(g+1flf‘ +1 ]&Jﬂ
(b) Rise time . 1
(11}
4l
c Settling time s
(c) g @D T—g 2
@, —1,‘."1 =
(d) Faster time constant . 1
(1v)

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(111). (c)-(1v), (d)-(11)
(2) (a)-(11), (b)-(11), (c)-(v), (d)-()
(3)  (@-Gv), (b)-(iii), (¢)-(). (d)-(1)
(4) (a)-(111), (b)-(iv), (c)-(1), (d)-(11)

Options :

5362289493. 1
5362289494, 2
5362289495. 3
5362289496. 4

Question Number : 125 Question Id : 5362282437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

ListI List IT
(Symbol) (Value)
(a) da @ 107"
(b) d (i) 107
© f (i) 107
(d) a (iv) 10

Choose the correct answer from the options given below :

(1) (a)-(iv). (b)-(11). (c)-(1). (d)-(111)
(2) (a)-(m), (b)-Gv). (c)-(1), (d)-(a11)
(3) (a)-(1). (b)-(11). (c)-(111). (d)-(iv)
(4) (a)-(v). (b)-(12). (c)-(m1). (d)-(2)

Options :

5362289497. 1
5362289498. 2
5362289499. 3
5362289500. 4

Question Number : 125 Question Id : 5362282437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

ListI List IT
(Symbol) (Value)
(a) da @ 107"
(b) d (i) 107
© f (i) 107
(d) a (iv) 10

Choose the correct answer from the options given below :

(1) (a)-(iv). (b)-(11). (c)-(1). (d)-(111)
(2) (a)-(m), (b)-Gv). (c)-(1), (d)-(a11)
(3) (a)-(1). (b)-(11). (c)-(111). (d)-(iv)
(4) (a)-(v). (b)-(12). (c)-(m1). (d)-(2)

Options :

5362289497. 1
5362289498. 2
5362289499. 3
5362289500. 4

Question Number : 126 Question Id : 5362282438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following semiconductor materials on the basis of Energy — Bondgap (Eg) from

highest to lowest
(A) ZnSe

(B) InAs

(C) CdTe

(D) Ge

(E) InP

Choose the correct answer from the options given below :

(1) (D). (C). (B). (A). (E)
(2) (C). (B). (A). (E). (D)
(3) (B). (A). (D). (C). (E)

(4) (A). (C). (E). (D). (B)
Options :
5362289501. 1
5362289502. 2
5362289503. 3
5362289504. 4

Question Number : 126 Question Id : 5362282438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following semiconductor materials on the basis of Energy — Bondgap (Eg) from

highest to lowest

(A) ZnSe

(B) InAs

(C) CdTe

D) Ge

(E) InP

Choose the correct answer from the options given below :
(1) (D). (C). (B). (A). (E)

(2) (C). (B). (A). (E). (D)

(3) (B). (A). (D). (C). (E)

(4) (A). (C). (E). (D). (B)
Options :
5362289501. 1
5362289502. 2
5362289503. 3
5362289504. 4

Question Number : 127 Question Id : 5362282439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The sequence of first to last step involved 1n a typical silicon gate n — MOS transistor 1s
(A) Gate oxadation

(By Contact cuts

(C) Patterning S10,layer

(D) Implant or diffusion

(E) Patterning of aluminium layer

Choose the correct answer from the options given below :

(1) (C). (D). (A). (B). (E) (2) (B). (D). (A). (C). (E)
(3) (C). (A). (D). (B). (E) (4) (B). (4). (D). (E), (C)
Options :

5362289505. 1
5362289506. 2



5362289507. 3
5362289508. 4

Question Number : 127 Question Id : 5362282439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The sequence of first to last step involved 1n a typical silicon gate n — MOS transistor 1s
(A) Gate oxadation

(By Contact cuts

(C) Patterning S10,layer

(D) Implant or diffusion

(E) Patterning of aluminium layer

Choose the correct answer from the options given below :

(1) (C). (D). (A). (B). (E) (2) (B). (D). (A). (C). (E)
(3) (C). (A). (D). (B). (E) (4) (B). (4). (D). (E), (C)
Options :

5362289505. 1
5362289506. 2
5362289507. 3
5362289508. 4

Question Number : 128 Question Id : 5362282440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the Nyquist sampling interval of the signal in descending order
(A) =ine(3008)

(B) =inc(300¢f) + sin o~ (300f)

(C) sine(200t)

(D) sinc(200t) + sin e” (200¢)

(E) sinc(200f) +sinc (500t)

Choose the correct answer from the options given below :

(1) (A). (C). (B). (D). (E) (2) (C). (D). (E). (A)., (B)
(3) (C), (A). (D). (E). (B) 4y (A (E). (D). (O). (B)



Options :

5362289509. 1
5362289510. 2
5362289511. 3
5362289512. 4

Question Number : 128 Question Id : 5362282440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the Nyquist sampling interval of the signal in descending order

(A) =inc(300%)
(B) sinc(300¢) + sin ¢>(300¢f)
(C) sine(2008)
(D) sine(200t) + sin ¢ (200¢)
(E) sinc(200f) +sinc (500t)

Choose the correct answer from the options given below :

(1) (A). (C). (B). (D). (E) (2) (C), (D). (E). (A). (B)
(3) (C). (A). (D). (E). (B) 4) (A (E). (D). (O). (B
Options :

5362289509. 1
5362289510. 2
5362289511. 3
5362289512. 4

Question Number : 129 Question Id : 5362282441 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Compare the output signal swing of the following power amplifiers

(4) Class A
(By Class B
(C) Class AB
(D) Class C

Choose the correct answer from the options given below :

(1) (A) = (B) = (C) = (D) (2Z) (D)=(C)=(B)=(A)
(3 D=B=(C)=(A) 4) (A)=(C)> B = D)



Options :

5362289513. 1
5362289514. 2
5362289515.3
5362289516. 4

Question Number : 129 Question Id : 5362282441 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Compare the output signal swing of the following power amplifiers

(A)
(B)
(€)
(D)

Class A
Cla==s B
Class AB

Class C

Choose the correct answer from the options given below :

(1)
(3)

(A) > (B) > (C) = (D) 2 D) =>(C)>® =>@A
(D) > B) > (C) > (A) @ A=(©) >®>D)

Options :

5362289513. 1
5362289514. 2
5362289515.3
5362289516. 4

Question Number : 130 Question Id : 5362282442 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For designing a sequential circuit, the following steps are used as general methodology

(A)
(B)
(C)
(D)
(E)

State Assignment and transition table
State diagram

State table

Realization

k-maps and minimal expressions

The sequence of these steps 1n order of their execution 1s

Choose the correct answer from the options given below :

(1)
(3)

(€). (A). (B). (E). (D) (2) (E). B). (A4). D). (©)
(A). (B). (E). (C). (D) 4 (B). (C). (A). (E). (D)



Options :

5362289517. 1
5362289518. 2
5362289519. 3
5362289520. 4

Question Number : 130 Question Id : 5362282442 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For designing a sequential circuit, the following steps are used as general methodology

(A)
(B)
(C)
(D)
(E)

State Assignment and transition table
State diagram

State table

Realization

k-maps and minimal expressions

The sequence of these steps 1n order of their execution 1s

Choose the correct answer from the options given below :

(1)
(3)

(€). (A). (B). (E). (D) (2) (E). (B). (A). (D). (C)
(A). (B). (E). (C). (D) 4 (B). (C). (A). (E). (D)

Options :

5362289517. 1
5362289518. 2
5362289519. 3
5362289520. 4

Question Number : 131 Question Id : 5362282443 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following addresses in ascending order of their priority
(A) Address for divide error 1s 0000H

(B) Address for one — byte interrupt instruction, INT 1s 000CH
(C) Address for overflow. INTO instruction 1s 0010H

(I Address for single step trap — TF must be set 1s 0004H

(E) Address for non maskable interrupt 1z 0008H

Choose the correct answer from the options given below :

(1) (A). (D). (E). (B). (C) (2) (A). (E). (D). (B). (C)
(3) (A). (E). (B). (C). (D) (4) (A (D). (B). (E). (C)
Options :

5362289521. 1
5362289522. 2
5362289523.3
5362289524. 4

Question Number : 131 Question Id : 5362282443 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following addresses in ascending order of their priority
(A) Address for divide error 1s 0000H

(B) Address for one — byte interrupt instruction, INT 1s 000CH
(C) Address for overflow. INTO instruction 1s 0010H

(I Address for single step trap — TF must be set 1s 0004H

(E) Address for non maskable interrupt 1z 0008H

Choose the correct answer from the options given below :

(1) (A). (D). (E). (B). (C) (2) (A (E). (D). (B). (C)
(3) (A). (E), (B). (C). (D) (4) (A), (D). (B). (E). (C)
Options :

5362289521. 1
5362289522. 2
5362289523. 3
5362289524. 4

Question Number : 132 Question Id : 5362282444 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Following materials are given

(A) Nickel

(B) Silicon iron

(C) Silver

(D) Cobalt

Arrange them in ascending order of relative permeability

Choose the correct answer from the options given below :

(1) (C). (D). (B). (A) (2) (C). D). (A). B)
(3) (B). (D). (A). (C) (4) (C), (A). (D), (B)
Options :

5362289525. 1
5362289526. 2
5362289527. 3
5362289528. 4

Question Number : 132 Question Id : 5362282444 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Following materials are given

(A) Nickel

(B) Silicon iron

(C) Silver

(D) Cobalt

Arrange them in ascending order of relative permeability

Choose the correct answer from the options given below :

(1) (C). D). (B). (A) (2)  (C). D). (A). (B)
(3) (B). (D). (A). (C) 4 (©). A). (D). (B)
Options :

5362289525. 1
5362289526. 2
5362289527. 3
5362289528. 4

Question Number : 133 Question Id : 5362282445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the bandwidth efficiency of the following M — ary modulation schemes in descending
order

(&) 8—aryPSK
(B) 8—aryFSK
(C) 16—aryFSK
(D) 16 —ary PSK
(E) 4 —ary FSK

Choose the correct answer from the options given below :

(1) (D). (C). (A). (B). (E) (2) (D). (E). (A). (C). (B)
(3) (€. (D). (B). (A). (E) (4) D). (A). (E), (B). (C)
Options :

5362289529. 1
5362289530. 2
5362289531. 3
5362289532. 4

Question Number : 133 Question Id : 5362282445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the bandwidth efficiency of the following M — ary modulation schemes in descending
order

(&) 8—aryPSK
(B) 8—aryFSK
(C) 16—aryFSK
(D) 16 —ary PSK
(E) 4 —ary FSK

Choose the correct answer from the options given below :

(1) (D). (C). (A). (B). (E) (2) (D). (E). (A). (C). (B)
(3) (€. (D). (B). (A). (E) (4) D). (A). (E), (B). (C)
Options :

5362289529. 1
5362289530. 2
5362289531. 3
5362289532. 4

Question Number : 134 Question Id : 5362282446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

For a unity feedback system. open loop. gain is a complex quantity (x+ j}') and M circles are
drawn for different values of ‘M’

A M=1
B M-=2
(C) M=3
D)y M=16

Arrange the above 1n ascending order of radius for constant magnitude Loc1

Choose the correct answer from the options given below :

(1) (C). (B). (D). (A) (2) (B). (C). (A). (D)
(3) (D). (A, (B). (O) (4) (C). (D). (A). (B)
Options :

5362289533. 1
5362289534. 2
5362289535. 3
5362289536. 4

Question Number : 134 Question Id : 5362282446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For a unity feedback system. open loop. gain is a complex quantity (x+ j}') and M circles are
drawn for different values of M’

A M=1
B) M=2
(€& M=3
D) M=16

Arrange the above 1in ascending order of radius for constant magnitude Loci

Choose the correct answer from the options given below :

(1) (C). (B). (D). (A) (2) (B). (C). (A), (D)
(3) (D). (A, (B). (C) (4) (C). (D). (A). (B)
Options :

5362289533. 1
5362289534. 2
5362289535. 3
5362289536. 4

Question Number : 135 Question Id : 5362282447 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in their order of occurance from control grid to fluorescent screen
(A) Focusing Anode

(B) Horizontal Deflection Plates

(C) Aquadag

(D) Pre — accelerating anode

(E) Vertical deflection plates

Choose the correct answer from the options given below :

(1) (A). (D). (C). (B). (E) (2)  (B), (O), (D). (A). (E)
(3) (D). (A), (E). (B). (C} 4) (C). (B). (D), (E). (A)
Options :

5362289537. 1
5362289538. 2
5362289539. 3
5362289540. 4

Question Number : 135 Question Id : 5362282447 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in their order of occurance from control grid to fluorescent screen
(A) Focusing Anode

(B) Horizontal Deflection Plates

(C) Aquadag

(D) Pre — accelerating anode

(E) Vertical deflection plates

Choose the correct answer from the options given below :

(1) (A). (D). (C). (B). (E) (2)  (B), (O), (D). (A). (E)
(3) (D). (A). (E). (B). (C) 4) (), B). (D). (E), (&)
Options :

5362289537. 1
5362289538. 2
5362289539. 3
5362289540. 4

Question Number : 136 Question Id : 5362282448 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Statement I : For memory capacitors, one of the popular structure 1s trench capacitor to
push memory densities to 64 Mbits and bevond.

Statement II : The sides of the trench capacitor are doped n” and the bottom of the trench
haz a p~ region. that forms a channel — stop region to 1solate adjacent
capacltors.

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false

(3 Statement I is correct but Statement IT 1= falce
(4) Statement I 1s incorreect but Statement II 1s true
Options :

5362289541. 1
5362289542. 2
5362289543.3
5362289544. 4

Question Number : 136 Question Id : 5362282448 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Statement I : For memory capacitors, one of the popular structure 1s trench capacitor to
push memory densities to 64 Mbits and bevond.

Statement II : The sides of the trench capacitor are doped n” and the bottom of the trench
haz a p~ region. that forms a channel — stop region to 1solate adjacent
capacltors.

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false

(3 Statement I is correct but Statement IT 1= falce
(4) Statement I 1s incorreect but Statement II 1s true
Options :

5362289541. 1
5362289542. 2
5362289543.3
5362289544. 4

Question Number : 137 Question Id : 5362282449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One iz labelled as Assertion (A) and the other is labelled as
Reason (R)

Assertion (A):  The circuits that are quite stable and relatively insensitive to temperature
variations have high stability factors.

Reasons (R) : For a particular configuration. if a change in ., fails to produce a
significant change in I.. the stability factor will be quite small.

In the hight of the above statement. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4 (A) 1= false but (R) 1s true

Options :

5362289545. 1
5362289546. 2
5362289547. 3
5362289548. 4

Question Number : 137 Question Id : 5362282449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One iz labelled as Assertion (A) and the other is labelled as
Reason (R)

Assertion (A):  The circuits that are quite stable and relatively insensitive to temperature
variations have high stability factors.

Reasons (R) : For a particular configuration. if a change in ., fails to produce a
significant change in I.. the stability factor will be quite small.

In the hight of the above statement. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4 (A) 1= false but (R) 1s true

Options :

5362289545. 1
5362289546. 2
5362289547.3
5362289548. 4

Question Number : 138 Question Id : 5362282450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R)

Assertion (A) : In Gunn effect. when electric field 12 varied from zero to a threshold value.
The drift velocity decreases
Reasons (R) : Beyvond the threshold electric field. if the electric field 1= inereased. The

drift velocity 1s decreased and the diode exhibits negative resistance.

In the hight of the above statement. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) 1= corect but (R) 1= not correct

(4) (A) 1= not correct but (R) 1= correct

Options :

5362289549. 1
5362289550. 2
5362289551. 3
5362289552. 4

Question Number : 138 Question Id : 5362282450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R)

Assertion (A) : In Gunn effect. when electric field 12 varied from zero to a threshold value.
The drift velocity decreases

Reasons (R) : Beyvond the threshold electric field. if the electric field 1= inereased. The
drift velocity 1s decreased and the diode exhibits negative resistance.

In the hight of the above statement. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) 1= corect but (R) 1= not correct

(4) (A) 1= not correct but (R) 1= correct

Options :

5362289549. 1
5362289550. 2
5362289551. 3
5362289552. 4



Question Number : 139 Question Id : 5362282451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Give below are two statements :

Statement I : The Hall effect sensor 1s included in the magnetic core structure of the
current probe.

Statement II : The Hall effect sensor assures that the static magnetic flux 1in the core 1=
exactly zero.

In the light of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement IT 1s incorrect

(1) Statement I is incorrect but Statement IT is correct
Options :

5362289553. 1
5362289554. 2
5362289555. 3
5362289556. 4

Question Number : 139 Question Id : 5362282451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Give below are two statements :

Statement I : The Hall effect sensor 1s included in the magnetic core structure of the
current probe.
Statement II : The Hall effect sensor assures that the static magnetic flux in the core 1s

exactly zero.

In the light of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement IT 1s correct
Options :

5362289553. 1
5362289554. 2
5362289555. 3
5362289556. 4

Question Number : 140 Question Id : 5362282452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Heason (R)

Assertion (A) : The Syndrome depends on both the error pattern and the transmitted code
word.

Reaszons (R) : All error patterns that differ by a code word have the same syndrome.

In the light of the above statements, choose the correct answer from the options given below :

N Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (B) 1= not the correct explanation of (&)
(3) (A) 1= true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options :

5362289557. 1
5362289558. 2
5362289559. 3
5362289560. 4

Question Number : 140 Question Id : 5362282452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements : One 1s labelled as Assertion (A) and the other i1s labelled as
Reason (R)

Assertion (A) : The Syndrome depends on both the error pattern and the transmitted code
word.

Reasons (R) : All error patterns that differ by a code word have the same syndrome.

In the light of the above statements. choose the correct answer from the options given below :

() Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 18 not the correct explanation of (4A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options :

5362289557. 1
5362289558. 2
5362289559. 3
5362289560. 4

Sub-Section Number : 2
Sub-Section Id : 53622895
Question Shuffling Allowed : Yes

Question Id : 5362282453 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No



Question Numbers : (141 to 145)
Question Label : Comprehension

Read the Passage and Answer Question 91 — 95 :

Charge Couple Device (CCD) can be used either as an image sensor or as a shift register. As
a photo detector 1t has also been called charge — coupled image sensor or charge — transfer
image sensor. Most common area images use either interline transfer or frame transfer
readout architecture. The spacing between CCDs should be small for efficient charge
transfer.

Sub questions

Question Number : 141 Question Id : 5362282454 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which semi conductor materials are used to make Charge Couple Device (CCD)?
(A) S

(B) Hg Cd Tc

(Cy Ta

(D) InSh

Choose the correct answer from the options given below :

(1) (A) only (2)  (A) and (C) only

(3) (C) and (D) only (4) (A, (B) and (D) only
Options :

5362289561. 1
5362289562. 2
5362289563. 3
5362289564. 4

Question Number : 142 Question Id : 5362282455 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CCDs have the following characteristics

(1) Low dark current, high — noise

(2) High — voltage operation. low — noise
(3) Poor dynamic range. low — dark current
(4) Good linearity. low — dark current
Options :

5362289565. 1
5362289566. 2
5362289567. 3
5362289568. 4



Question Number : 143 Question Id : 5362282456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Give below are two statements :

Statement I : The advantage of frame — transfer readout architecture, compared to the
interline, transfer 1s a more efficient light — sensing area.

Statement 11 : For both interline transfer and frame — transfer. all columns advance their
charge signals to the horizontal output register simultaneously

In the light of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement IT is correct
Options :

5362289569. 1
5362289570. 2
5362289571. 3
5362289572. 4

Question Number : 144 Question Id : 5362282457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Give below are two statements :

Statement I : A hine imager with dual output registers has poor read — out speed

Statement II : In the frame transfer scheme, signals are shifted to a storage area away
from the sensing area.

In the hight of the above statements. choose the correct answer from the options given below

(1) Both Statement I and Statement II are true

(4] Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362289573. 1



5362289574. 2
5362289575. 3
5362289576. 4

Question Number : 145 Question Id : 5362282458 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Give below are two statements :

Statement I : The three basic charge — transfer mechanisms in CCD are (a) thermal
diffusion, (b) self — induced drift and (c) fringing — field effect.

Statement II : For small amount of signal charge. self induced drift 1s the dominant factor
and for a reasonably large charge packet: thermal diffusion 1s the
dominant transfer mechanism

In the hight of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362289577. 1
5362289578. 2
5362289579. 3
5362289580. 4

Question Id : 5362282453 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the Passage and Answer Question 91 —95:

Charge Couple Device (CCD) can be used either as an image sensor or as a shift register. As
a photo detector 1t has also been called charge — coupled 1mage sensor or charge — transfer
image sensor. Most common area lmages use either interline transfer or frame transfer
readout architecture. The spacing between CCDs should be small for efficient charge
transfer.

Sub questions

Question Number : 141 Question Id : 5362282454 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which semi conductor materials are used to make Charge Couple Device (CCD)?

(A) 51

(B)y Hg CdTc

(C) Ta

(D) InShb

Choose the correct answer from the options given below :

(1) (A) only (2) (A)and (C) only

(3) (C) and (D) only (4) (A, (B) and (D) only
Options :

5362289561. 1
5362289562. 2
5362289563. 3
5362289564. 4

Question Number : 142 Question Id : 5362282455 Question Type
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CCDs have the following characteristics

(1) Low dark current, high — noise

(2) High — voltage operation. low — noise

(3) Poor dynamic range. low — dark current

(4) Good linearity. low — dark current
Options :

5362289565. 1
5362289566. 2
5362289567. 3
5362289568. 4

: MCQ Option Shuffling : No Is Question

Question Number : 143 Question Id : 5362282456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Give below are two statements :

Statement I : The advantage of frame — transfer readout architecture, compared to the

interline, transfer 1s a more efficient light — sensing area.

Statement II : For both interhine transfer and frame — transfer, all columns advance their

charge signals to the horizontal output register simultaneously

In the light of the above statements, choose the most appropriate answer from the options

ziven below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement IT 1s correct
Options :

5362289569. 1
5362289570. 2
5362289571. 3
5362289572. 4

Question Number : 144 Question Id : 5362282457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Give below are two statements :

Statement I : A line imager with dual output registers has poor read — out speed

Statement II : In the frame transfer scheme, signals are shifted to a storage area away

from the sensing area.

In the hight of the above statements, choose the correct answer from the options given below

(1
(2)
(3)

(4)
Options :

Both Statement I and Statement II are true
Both Statement I and Statement Il are false
Statement I 1s correct but Statement IT 1s false

Statement I is incorrect but Statement I is true

5362289573. 1
5362289574. 2
5362289575.3
5362289576. 4



Question Number : 145 Question Id : 5362282458 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Give below are two statements :

Statement I : The three basic charge — transfer mechanisms in CCD are (a) thermal
diffusion. (b) self — induced drift and (¢) fringing — field effect.

Statement IT : For small amount of signal charge. self induced drift 1s the dominant factor
and for a reasonably large charge packet: thermal diffusion 1z the
dominant transfer mechanism

In the light of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement I and Statement I1 are correct

() Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement I 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362289577. 1
5362289578. 2
5362289579. 3
5362289580. 4

Sub-Section Number : 3
Sub-Section Id : 53622896
Question Shuffling Allowed : Yes

Question Id : 5362282459 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the Passage and Answer Question 96 — 100 :

The ability of the oscillator circuit 1s to oscillate at one exact frequency 1s called frequency
stability, The frequency of oscillation 1s an important criterion. Usually the circuits
producing sine waves are called oscillators while those generating a square wave, triangular
wave and/or saw tooth wave are called generators though both of these can be used
interchangeably.

Sub questions

Question Number : 146 Question Id : 5362282460 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are not correct?

(A) Rise time of trangular waveform 1s always equal to 1ts fall time

(B) Saw tooth waveforms have unequal rise and fall times

(C) Triangular wave generator can not be converted into a sawtooth wave generator

(D) Triangular wave generator can be converted into sawtooth wave genertor by injecting a
variable de voltage into the inverting terminal of the integrator.

Choose the correct answer from the options given below :

(1) (C) and (D) only
(2) (C) only
(3) (B) only
(4) (A) and (B) only

Options :

5362289581. 1
5362289582. 2
5362289583. 3
5362289584. 4

Question Number : 147 Question Id : 5362282461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The frequency of oscillation of a guadrature oscillator having resistance of 100 kQ) and
0.01 wF capacitor 1s

(1) 100 Hz

(2) 159 Hz

(3) 200 Hz

(4) 209 Hz
Options :

5362289585. 1
5362289586. 2
5362289587.3
5362289588. 4

Question Number : 148 Question Id : 5362282462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The equation of frequency of oscillation of a triangular wave generator 1s given as

3R,C,R
I
3
4R,C, R,
(2) fy =—}?1 =
3
R
3  fi=—"
3R,C4R,
R
(4) fi= =
4R,CiR,
Options :

5362289589. 1
5362289590. 2
5362289591. 3
5362289592. 4

Question Number : 149 Question Id : 5362282463 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A triangular wave generator can be formed by connecting

(1) an integrator to square wave generator

(2) a differentiator to square wave generator

(3) a differentiator to quadrature oscillator

(4) an integrator to quadrature oscillator
Options :

5362289593. 1
5362289594. 2
5362289595. 3
5362289596. 4

Question Number : 150 Question Id : 5362282464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Square wave generator 1s also called

(1) one-shot multivibrator

(2) sample and hold circuit

(3 free- running multivibrator

{4) voltage-to-current convertor
Options :

5362289597. 1
5362289598. 2
5362289599. 3
5362289600. 4

Question Id : 5362282459 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the Passage and Answer Question 96 — 100 :

The ability of the oscillator circuit 1s to oscillate at one exact frequency 1s called frequency
stability, The frequency of oscillation 1s an important criterion. Usually the circuits
producing sine waves are called oscillators while those generating a square wave, triangular
wave and/or saw tooth wave are called generators though both of these can be used
interchangeably.

Sub questions

Question Number : 146 Question Id : 5362282460 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are not correct?

(A) Rise time of trmangular waveform 1s always equal to 1ts fall time

(B) Saw tooth waveforms have unequal rise and fall times

(C) Triangular wave generator can not be converted into a sawtooth wave generator

(D) Triangular wave generator can be converted into sawtooth wave genertor by injecting a
variable de voltage into the inverting terminal of the integrator.

Choose the correct anawer from the options given below :

(1) (C) and (D) only
(2) (C) only
(3) (B) only
(4) (A) and (B) only

Options :

5362289581. 1
5362289582. 2
5362289583. 3
5362289584. 4

Question Number : 147 Question Id : 5362282461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The frequency of oscillation of a guadrature oscillator having resistance of 100 kQ) and
0.01 wF capacitor 1s

(1) 100 Hz

(2) 159 Hz

(3) 200 Hz

(4) 209 Hz
Options :

5362289585. 1
5362289586. 2
5362289587.3
5362289588. 4

Question Number : 148 Question Id : 5362282462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The equation of frequency of oscillation of a triangular wave generator 1s given as

3R,C,R
I
3
4R,C, R,
(2) fy =—}?1 =
3
R
3  fi=—"
3R,C4R,
R
(4) fi= =
4R,CiR,
Options :

5362289589. 1
5362289590. 2
5362289591. 3
5362289592. 4

Question Number : 149 Question Id : 5362282463 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A triangular wave generator can be formed by connecting

(1) an integrator to square wave generator

(2) a differentiator to square wave generator

(3) a differentiator to quadrature oscillator

(4) an integrator to quadrature oscillator
Options :

5362289593. 1
5362289594. 2
5362289595. 3
5362289596. 4

Question Number : 150 Question Id : 5362282464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Square wave generator 1s also called

(1) one-shot multivibrator

(2) sample and hold circuit

(3 free- running multivibrator

{4) voltage-to-current convertor
Options :

5362289597. 1
5362289598. 2
5362289599. 3
5362289600. 4



